HYDRAULIC
VALVES




oot bgbooobooubooboo

goooboobobbobooobooboobobooobobbobooboobobobooboobOon
goooboobooboobooooooboooobooboooboboboboobuoobobobooboo
goooboobobboboobooboboobooobooboobooboobobooboobOon
gooobooooobbooooboboooobobboooobboooobobbooobobobooo
googbooboboobodooooboboobooboobobobobooboobobobooboo
gooobooboobgooooobo

gboobooboooboobobn

goooboobooobobooboobuooooboooobobooboboobobooboboobo
goooboooboobobDboob0De Db oooobooboobUobbOobDooboobobDo
googmm
goboboooboooooooboboboboboobobooooobobobobobobobooooobon

oooooo

nmoooooo

goooooooooooooboooooooo

gooobooocoooooooobooooooon
goooooboooooooooboooooooon
oooooooooooo
goooooooooooooooooooooon
goooooooooowOOOOOOOODOO
oooooooorODOCOOOOODOODODOO
goooooboooooooooboooooooo

owbooobooooooooboooo

gooooobooooooooobooooooon
goooooogoo

gooooooooooooNAS@mOoOOOOO
gbooogao

goooooooomoomoooooooooo
goooooooooooooooooooooon
ooooooooo
goooooboooooooooboooooooon
gobooooboooooooooooooooo

(20000o00oooooo

goooooboooooooooboooooooon
gooooobooooooooobooooooon
obooobooooo
gbooooooooooobooooboobooooboo
gbooboooooobooooooooboooboo
gbooboooobooboooon
gbooboooboooboooboooooboooboo
goooooboooooooooboooooooo
ooooo

[I3oooooooooboboboooboon

goooooooooooooocboooooooon
gooooooooooooooboooooooon
gooooobooooooooobooooooon
goooooooooooooo
gooooooooooooooooooooDoon
ooooooooo
goooooooooooboboooooo* o
O 0oobooooooooooooooooooon
ooooooooo

ooooooooooooooooooooooo
ooooooooo
coooboooooboOooobooooobooood
ooooooooocooOoooooooo
ooobooooooboOoobooooOooboDbOooboDo
ooooooooobooooooooobooooooon
oooooooo
ooooooooooooooooooooooo
cooooooooobooooo
oooooooooooooooooboboooooo
oooooooooooooooooboboooooo
ooooooooooooooo

tAfgoooooog

oooooooobooOooooooooboooooo
oooooooooooooooooboboooooo
ooooooooooooooo
oooooooobooooooooboooooooo
oooooooooooooooon
ooooooooooooooooooooooo
ooooooooobooooooooobooooooon
ooooooooooooooooooooooo
ooooooooooooooooooooooo
cooooooooooooooo
oooooooooooooooooboboooooo
oooooooobooooooooboooooooo
ooooooo

(sgooooooooan

CIA[I[I
QA[I[I

uobooooobooobooboooo

gboobooooobooboooboobobooboooon
gooooooboooboobooobooboooo
bobooboooboobooboobooboobooog
oboooooboobobooobooboooo
oboooooboobobooobooboooo
oooooooobooo
oooooooooooooooooboboooooo
goooobooboooboooobooooooon
gooooooboooboobooobooboooo
gobooooobooobooobo



Before you use the product, you MUST read the instruction manual and MUST fully understand how to
use the product.

To use the product safely, you MUST carefully read all Warnings and Cautions in this manual.

You

MUST also observe the related regulations and rules regarding safety.

SAFETY PRECAUTIONS

(1) Precautions in selecting valve type

1) A WARNING Use the valve at maximum operating pressure or below.

2) A CAUTION

3) A CAUTION
4) A CAUTION

Use general mineral oil series hydraulic oil. The valve model No.
described in this catalogue is subject to use of general mineral series
hydraulic oil.

When phosphoric ester series hydraulic oil is used, O-ring of special
material (VITON ®)must be used. In this case, prefix"F-"to the
selected model number in designating the hydraulic oil. When Water
based hydraulic oils (water glycol type or emulsified type hydraulic
oils) is used,In this case,prefix"W-"to the selected model number in
designating the hydraulic oil. Contact us for use of other different
hydraulic oil.

Keep hydraulic oil clean (cleanliness:NAS Grade 12 or below).

Use hydraulic oil at ambient temperature ranging from-15 deg.C to
80 deg.C. Contact us for the use at temperature beyond the above
temperature range.

Using the valve out of conditions instructed above could result in
mechanical and/or physical damage, leading to a serious accident.

(2) Valve handling precautions

1) CAUTION

2) A CAUTION
3) A CAUTION

Valve handling could result in hand entanglement and/or a pain in
the waist, depending on valve weight and/or the working attitude.
Handle it with good care.

Avoid stepping on, hammering or dropping the valves. Do not apply
external force to the valve. Failure to observe this precaution could
result in malfunction, damage, oil leakage, etc.

Wipe off hydraulic oil adhering to the valve or to the floor. Failure to
observe this precaution could result in dropping a product in carrying
or bodily injury by slip.

(3) Valve mounting/demounting precautions

1) A CAUTION

2) A CAUTION
3) A CAUTION

In mounting the valve, use specific bolts and tighten them with
specific tightening torque. Failure to observe this precaution could
result in malfunction, damage and/or oil leakage.

Check thread matching between valve and pipe before using the
velves of the screwed joint type piping system.

When using the screwed joint type and the flanged joint type valves,
connect these valves with good care so that pipe abutting on the
body can give no unnecessary load to the valve body.

4) A WARNING Connect the valve connection port with a specific pipeline.

5) ACAUHON
6) AWARNlNG

7) A CAUTION
8) A CAUTION

When mounting the valve or re-assembling it after overhauling,
replace the present gasket and O-ring with new ones of same
material.

Before maintaining, checking, conditioning, replacing or demounting
the valve, stop the operation and completely purge hydraulic
pressure out of the pipeline(circuit).

Perform mounting,demounting or piping by qualified personnel.
Clean the mounting holes and surface. |If they are stained,valve

breakage and/or oil leakage would be caused due to imperfect
tightening of flange bolts and/or seal damage.

(4) Operating precautions

1) AWARNlNG
2) A CAUTION
3) A CAUTION
4) A CAUTION
5) A CAUTION

If any trouble(abnormal noise, oil leakage, etc.)happens with the
valve, stop the operation immediately and take necessary action.
Failure to observe this precaution could result in damage, fire, or
injury.

Do not use any valve for application other than specified in the
relevant drawing, instruction manual or catalogue.

Use a proper hydraulic oil and control the degree of its
contamination according to the recommended value. Failure to
observe this precaution could result in malfunction or damage.

Water content in petroleum base hydraulic oil, if contained therein,
would shorten the valve’s life. Periodically drain hydraulic oil out of
the oil tank to refill new oil.

The hand wheel is designed so that it can be operated within the
specified pressure range. Do not use an auxiliary lever or the like
to operate the hand wheel.

(5) Precautions for maintenance and storage

1) AWARNING
2) ACAUHON

3) A CAUTION
4) A CAUTION

Avoid random modification of the valves.

Avoid overhauling and re-assembling the valve without our
permission. After re-assembling, the valve would be unable to fulfill
its speciftic performance, causing trouble and accident. When the
valve has to be inevitably overhauled and re-assembled, do that by
qualified personnel. Before overhauling and re-assembling, contact
us for confirmation and full understanding of the precautions to be
observed.

When carrying and storing the valves, apply dust and rust preventive
treatments to them, with good attention to the environmental
conditions such as ambient temperature and humidity, etc.

When using the valves after a long-term storage, the seals must be
replaced with new ones, depending on actual seal condition.



g

0ooo oooooo Dulagaum ooo Oooo (000
HG-4211-0 0 -23 8L110[20B2CE0BO 3
HGF-4211-0 0 -23-0 0 FO 10[R0CB250 5
HGL-4211-0 0 -23-FO S prosys—— oooog| 6
HGH-4211-0 0 -23 102082 8
HG,HGD-4350-0 [ -23 35 | 10r20B2r50(BO 9
HF-4211-00-23 coLLOMLSI200E50 11
Noi|DOODD OO Lr4sll-bb-24 T S u
HT-4211-00-23 8[LO1L5[R0 12
HT-4211-0 0 -24 25082 e T
HF-4353-0 [0 -23 1011520 15
HF-4353-1 [1-22 35 25[B24005065[80 Dono 15
HT-1211-00-23 1 JOEQUISIROIRSES2 g Q| 17
HFS-1211-0 0 -23 ADIOMISIRORSIB2 o g Qg Q| 17
HF-1280-0 0 -11 28 | semomeme B2 lppopoo| 19
HG-8210-0 0 -23 10020 21
- SD . DDD : S HG-8210-0 0 -22 o1 32050 HHEEd 21
HF-8210-00 O -24 Somamg B0 lppoo| 23
HT-8210-0 0 -23 1011520 oooo| 24
HG-9210-0 0 -23 1020rB2 27
No.3 SD . DDD . S HG-9210-0 0 -24 21 | 32380 R P
HF-9210-0 0 -23 fooISmoRSEM0 \opgpoo| 29
HG-6211-0 0 -25 10020 31
No4 | 0ol oy | HG-6211-00 -24 21 | 32m00 HbHHE TS,
HF-6211-0 0 -25 ioomema B2 Do oo 3334
HGZ-ACC-0 0 X10-24 30 |2o0m2 oooooo| 37
NO.5 g e g . Dg HF-ACC-0 0 X10-23 21 | 10zomB2mH0r50 0000 |38040
HAG-0 O X10-F[J 25 | 10r20rB2M0 Doooo| 41
6| DD0Oooo [BY-0DD 21 810 oooo| 43
GV-G22G 21 8 0Doooo| 43
No7|0 DD O o o2 Bo-T 21 o noool22
GD-0 03 10 44
GNT-0 O 810[15 45
No.8 | 0DO0DOOD |GNT-ODO-L 35 810715 Sl I
GNG-02 8 0Doooo| 45
\oo| onnoop (HEC-4211-00-23 g |omomRE0 ooooo| 47
HFC-4211-0 0 R ThoEetB2MA0 oooo| 49
|No.10\ 0000000000 |HF-4213-000-23 21 | 1001250150 0000 \ 51
HF-4211-0 0 -23-AS1 SOOELSRORSIB2R0 1 g o g | 52
No.11 SDDDDDD S g g HG-4211-0 0 -23-AS1 21 810(20[B2(50 Doooo| 53
HT-1211-0 0 -23-AS1 810152025 Dooo| 54

XENIOTIBHHADBBES DBBICIY, FELLBETENDENDBYUET,
HNYOTEMBERICCATNO 2588 L CHY AT, HBIEEDRRICE. RIIRCH DN B TIHRLEE L,




CONTENTS

Breed Model No. Max.WﬁrAkngZessure Size Coupling Type| Page
HG-4211-0010 -23 8[110[R0LB2CE0[BO 3
HGF-4211-0 0-23-00FO o1 10[20B2[B0 5
HGL-4211-00 00 -23-FO 10rrOrB2060CB0O Gasket 6
HGH-4211-00 0 -23 10[20[B2 8
HG,HGD-4350-0 [0 -23 35 10020rB205008B0O 9
HF-4211-0 0 -23 R T 11
Flange
HF-4211-0 0 -24 25782 11
No.l1 | Stop Valves 21
HT-4211-0 0-23 8101520 12
Screwed
HT-4211-0 0 -24 25082 12
HF-4353-0 [0 -23 1015020 15
35 Flange
HF-4353-[0 1 -22 25[B2[A0[B0B5(80 15
HT-1211-00-23 1 4O EEOHLSLR025LE2 Screwed | 17
HFS-1211-0 0 -23 4BELOLSLRO25MB2 Flange 17
HF-1280-0 0 -11 28 | somomsame B2 Flange 19
HG-8210-00 0 -23 10C20 21
Gasket
No.2 Throttle HG-8210-0 0 -22 1 32050 21
0.
Stop Valves | HF.g210-0 [ -24 someBo o o0 Flange | 23
HT-8210-00 0 -23 1001520 Screwed 24
HG-9210-0 0 -23 1020082 27
Throttle S_top Gasket
No.3 | Valves With |HG-9210-00 0 -24 21 32J050 27
Check
HF-9210-0 0 -23 ZOLASLE0MRSIB2MA0 Flange 29
HG-6211-0 0 -25 10C20 31
Check I1iG6211-00-24 21 |as2ms00 Gasket 15
o StOp Valves - : : 81OL5[P0R5[B2
HF-6211-0 0 -25 40TEOBaEY Flange | 33,34
HGZ-ACC-U [0 X10-24 30 20082 Modular 37
Accumulator
- - - 10[R0[B2400
No.5 Stop Valves HF-ACC-0O 0 X10-23 21 Flange |38 40
HAG-O O X10-FO 25 10020CB21A0 Gasket 41
Gv-ooo 21 8r1o Screwed 43
No.6 | Gauge Valves
GV-G22G 21 8 Gasket 43
GD-OOO-T 810 44
No.7 Damper For 21 Screwed
Pressure Gauge | GD-[0 03 10 44
GNT-O O 81015 45
Screwed
No.8 | Needle Valves| GNT-O O -L 35 8L10r15 45
GNG-02 8 Gasket 45
No.9 | Check Val HGC-4211-0 0 -23 o1 10020rB2I50 Gasket 47
0. eck Valves
HFC-4211-0 O SO S IE0rRSIB2MH0 Flange 49
[No.10| Stop Valves |HF-4213-0 00 -23 21 | 1000250150 Flange | 51
HF-4211-0 0 -23-AS1 o RorRoPORSB2H0 | Flapnge | 52
Stainless Steel
- - - - 8[10[RO[B20
No.11 Stop Valves HG-4211-00 0 -23-AS1 21 Gasket 53
HT-1211-00-23-AS1 8052025 Screwed 54

*Materials and specifications are subject to change without manufacture's obligation.




NO.1 jujujujujiugsys}sluiujuyuyn
Gasket Type Stop Valves

000 8%°010%020%0 32°050%0 80"
Size oooooo

Model No.

HGO 4211

oooo 0000 Standard Specifications
Symbol oooooo
N Max Working Presstrre 21MPa
gooood
Seat Test Pressure 31.5MPa
gooooad
Shell Test Pressure 42MPa

goooooboooooooooooooboooono

gbooooooooooooooo
go000000000000000000000" HGD-4211” 000000
goooooz2sMpPallO000O0O0O0OO0DODOODDO" HGZ-4211” 00000000

Mounting bolts O O-ring included.

Either port of the stop valve can be used as inlet or outlet.

Ductile cast iron O O Model number is* HGD-4211" .

Max. working pressure of 25 MPa 0 O 00 Model number is* HGZ-4211" .

0 HGO 42110 80 340 0 O MassO1.4kgO 0 HGO 421107 10,10J,200 23

Ooooo Oooodg

M8x 5540

0000 OH

49h00
Holes

0 HGO 42110 8001 230 0 O Mass[52.3kg

9300

00032004
In case of 32A

OOH

oog s
Lift

ooo

R)ER)ER)ER) R

D. @D:
@D @D
G
T S \
<> =
e
:t H = 00032000
LL- - e In case of 32A l__gf: 692600
| N Holes 155 Holes
‘ e b 220 25
A 270
00000000 Mounting Dimensions EE ooooOooono oo
oooooo O-Ring Size Mass
102000 Bolt oo
Model No. a 0JIS B 2401)

A B = F G K L N P. | P2 h |0000 Size|0 No.| D D: | D2 S T w H | 126A | 126B | 126C | 126D | 126E |(kg)
HG-4211-10-23 85 70 [165 50 | 465| 25 | 185 | 465] 10 10 9 | M 8x 45| 4 22 9 10 13 33 8 80 |146 | P18 G25 | P10 P21 - 24
'HG-4211-10J3-23 | 80 68 [1603 | 476| 423| 238|127 | 476| 99| 102 | 11 |M10x 60| 4 28 14 | 14 16 | 46 8 80 |151 | P22A | G25 | P10 P21 - 26
'HG-4211-20-23 | 113 97 81 65 | 538| 325|128 | 588 16 16 175 | M16x 60| 4 35 16 | 16 17 | 44 | 10 | 120 |{2005| G30 G35 | P125| G25 - 54

[HG-4211-32-23 | 127 | 127 192 92 | 46 | 46 | 206 | 714|175 | 175| 215 |M20x 100 | 4 45 | 30 | 30 29 72 10 | 140 |259 | G40 G50 | P32 P16 G35 |13

'HG-4211-50-23 | 180 | 160 [140 |120 | 82 60 | 300 |110 |20 20 24 | M22x 120 | 4 65 | 48 | 48 31 90 | 17 | 200 |327 | G6O G75 | P48 P20 G40 |27

3



000

i Jooood

Pressure Drop Property Chart

00o00o032mm¥/sO0000000000
The following characteristic is a representative performance at viscosity 32mm?/s.

HG 42110180 34 HGO 42110 3201 23
1.0 1.0
0.9 9
8 0.8
o o7 L So7
oS 06 o o6
0505 0505
OG04 = %04
Pfos & 0.3
MPa 0.2 MPa 0.2
0.1
0.1 —
0 10 20 30 40 50 60 70 80 0 100 200 300 400 500 600 700 800
0000 LUmin 0000 LUmin
Flow Rate Flow Rate
HGO 42111100 23 HG 42111500 23
1.0 1.0
0.9 0.9
p2? 2!
o5~ 020
0906 0506
o505 O 505
O A (m}
og g’: o g g":
a 0.5 a 03
MPa 0.2 MPa 0.2
0.1 0.1
0 10 20 30 40 50 60 70 80 90 100 0 500 1000 1500 2000 2500
0000UUmin 0000 L/min
Flow Rate Flow Rate
HG 421101 10J0 23 HG 4211018001 23
1.0 1.0
0.9 0.9
207 507
os > o020
0506 o206
o505 D505
0204 0204
B &o03 BLos 4
MPa 0.2 MPa 0.2
0.1 — 0.1 ——
0 10 20 30 40 50 60 70 80 90 100 110 120 0 1000 2000 3000 4000 5000 6000
0000 LUmin 0000 LUmin
Flow Rate Flow Rate
oooooooood
HG[ 421102000 23 Closing Torque Characteristic Curve
70
Q
2 60 N80
1.0 S
g-; 850
a = @
o8 0.7 540
0506 g 50
0505 S
0204 s 32
og 03 O o
o 0 £20 20
MPa 0.2 o8 | _—
0.1 oo, — T4 810
. ) N . N-m — 1
0 50 100 150 200 250 300 —
0o00aL/min 0 5 10 15 2021
Flow Rate 0000MPa
Pressure




[ \O.1 EEERGEEEEEEEEE
Gasket Type Stop Valves

oo0 10%020%032%050%

Size 0ooooo

HGFO 4211

Model No.

oooo 0000 Standard Specifications
Symbol oooooo
Max.Working Pressure 21MPa
gooooo
Seat Test Pressure 31.5MPa
gooooo
Shell Test Pressure 42MPa

goboooooooooooooooooon
DO000O00O0oO0obOoO(LsAOssAD)OODODODOBOOO

Mounting bolts O O-ring included.
Please consult us for type of flange is LSA or SSA.

oo oo

0 HGFO 42110 32,500 230 0 O FO

L
: Ll J
i 1 3 9E 300 K_%\
= oF —
BT S| Tt
ol§ 14 ¥ N b ﬂ 00032000
g 5- od — In case of 32A
? )5 B,
alle
si= sl
2 oo _} o)
=7 — \
2] L N@®
L‘LD[J 49h00 o = 00000000 TO0AO0D
49h00 _Q T BT e Holes In case of end of model number is" 101 1 FE
Holes In case of end of model number is" 00 FE.
&
2| o ar WRER
3
o| of & J ol
CHERE
&
00000000'000FS'000 00000000 000FSD00
In case of end of model number is"0 OO FS. In case of end of model number is* [ [ [1 FS.
oo i i i
oooooo oo 00000000 Mounting Dimensions
VI N e 102A0 00 Bolt

: D D, D- Q H s U v w M N h |[0o0O00 Size] O No.
HGF-4211-10-23-10FL
HCRA2ILT0,23.106S 2 9 125 55 152 32 8 15 61 80 48 74 14 M12x 75 4
HGF-4211-10-23-15FL
HGF-4211-10-23-15FS
HGF-4211-20-23-20FL
HGF-4211.20 23 20FS 35 16 20 75 201 43 10 15 81 120 56 82 14 4
HGF - 4211-20-23-25FL M12x 95
HGF-4211-20-23-25FS
HGF-4211-32-23-32FL
HGF-4211-32-23-32FS
e adrL 45 2 k) 85 239 55 10 20 110 140 73 105 175 M16x 130 4
HGF-4211-32-23-40FS
HGF-4211-50-23-50FL
HGF - 4211.50.23.50FS 65 48 475 95 306 64 17 30 121 200 120 160 20 M18x 150 4

00000000Fange onoooono oo
oooooao O-Ring Size Mass
Model No. 102B0 00 Bolt 0 JIS B 2401)

: d A B © E E G K J T L |0000 Size|0 No.126Al126B[126C[126D[126E[126F| (kg)
HGF-4211-10-23-10FL s 8 | 5 | 178 o |2 36 | 40 | 2635 M10x 55 44
HGF-4211-10-23-10FS P ] ] i 21 ] M10x 35 . os | s I | ot | s | o 39
HGF-4211-10-23-15FL » 8 o |y | n |2 36 | 40 | 2415 M10x 55 44
HGF-4211-10-23-15FS ] : 0 0 21 0 M10x 35 39
HGF-4211-20-23-20FL 2 2 R I 48 | 50 | 264 M12x 70 74
HGF-4211-20-23-20FS s | s 0 0 0 2 0 M12x 45 R O e [ A 67
HGF-4211-20-23-25FL 25 2 I R 48 | 50 |23 M12x 70 79
HGF-4211-20-23-25FS ] ‘ 0 i 2 ] M12x 45 72

42113223 ‘ M16x 95 )
e o I O B T N 59
(P AP R RO AR 92 | 65 g 35 4 | o4 | 650 | P2 | Pl6 | G35 | G50 :
HGF-4211-32-23-40FL s 0 [ | gor | ;g [P 84 [ 7 [262 M16x 95 165
HGF-4211-32-23-40FS ’ ] ‘ 0 i 35 ] M16x 60 141
HGF-4211-50-23-50FL O e - R O P 0 I - 5 M16x 110 w0 | o . o | oo B
HGF-4211-50-23-50FS : ] : 0 i 35 ] M16x 60 4 5 | P P2 | G 31




NO.1 jujujujujugsys}slngujuyuyn
Gasket Type Stop Valves

000 100 20%0 32%0 50”0 80*
Size oooooo

Model No.

HGLO 4211

oooo 0000 Standard Specifications
Symbol oooooo
N Max Working Presstrre 21MPa
sTepesae | 315MPa
oooooo 12MPa
0 000000000000000000000Q | ShellTestPressure

O ooobogLsADOO0Ooboooooooboooooo
LSADOO00O000DOO0DO0DOOoOOooOoooor™ OrFL DODODOO

0 00000JIsSB2291SSA00OLSAODOODOODOO

0O Mounting bolts O O-ring included.

O In case of type of flange is LSA, please consult us.

LSA type flangel O O End of model number is* OFL” .
0 Flange types should be per JIS B 2291 SSA, LSA.

O HGLO 42110 10,200 230 FS 0 HGLO 42110 32,50,8000 230 FS
126) (129) (126) (120 @ @ i) (1z5) (@) (12 @ @ g2
om ] . ¥ ¥ ) BAN N
p % I @ N
= O 18t | )
[ g EE 5 8 J > ajua] 1| 8 . .
- ~ NG == — I R L =Nt Lift
g_D;l || X l_ oL | _J ----- o 9D Ls| x oL LJ
9D _ oM A 9D oM
00032000
! O0O00O0OH T ou Incaseof32A 0000 CH T oy
Open H Open H
- G G
a1 11
o | N o
B E
4:h|uu c 5 ooosnoo
oles. A Holes In case of 32A
A
00000000 Mounting Dimensions 00000000 Flange
oooooo
102A0 00 Bolt 102B0 00 Bolt
Model No.
A B © E E @ K P h |0000 Size|O No.| ¢ L M N Q 3 T |0000 Size|O No.
HGL-4211-10-23-FS 40 70 20 10 50 32 25 10 9 M 8x 70 4 125 36 (b4 |01780| 28 9 21 M10% 35 4
HGL-4211-20-23-FS 60 90 35 175 65 40 325 | 125 | 14 M12x 80 4 20 40 (68 217 38 12 21 M10x 350 4
HGL-4211-32-23-FS 4 124 42 21 92 59 46 16 175 M16x 110 4 315 56 76 432 56 16 27 M12x 45 4
HGL-4211-50-23-FS 111 180 71 355 140 80 70 20 20 M18x 150 4 475 73 100 611 75 20 35 M16x 60 4
HGL-4211-80-23-FS 135 220 85 425 170 100 85 25 26 M24x 200 4 71 103 140 90 108 25 44 M22x 80 4
e onoooooon ooo
O-Ring Size Mass
oooooao H 0JIS B 2401)
Model No.
D D: H U V2 w X Y z 126A | 126B | 126C | 126D | 126E | 126F (kg)
HGL-4211-10-23-FS 22 9 8 153 60 61 80 10 32 36 P18 625 P10 P21 G25 0 28
HGL-4211-20-23-FS 35 16 10 197 65 66 120 15 35 42 G30 G35 P125 G25 G30 0 47
HGL-4211-32-23-FS 45 30 10 243 85 91 120 20 60 48 G40 G50 P32 P16 G35 G40 111
HGL-4211-50-23-FS 65 46 17 265 114 121 200 30 85 65 G60 G75 P48 P20 G40 G60 275
HGL-4211-80-23-FS 90 71 27 418 156 165 300 36 100 825 G85 G100 P71 P24 G45 G85 58




0o

I oot

Pressure Drop Property Chart

00o0o0oo32mm¥/s00000000000

The following characteristic is a representative performance at viscosity 32mm?/s.

goboboOobOoOssAO0OO0O0O0O0OODOODOoOnO
OThis pressure drop property chart is in case of SSA type flange.

HGFO 42110 100 2301 10FS

o
©

oooooooood

ooooo
Pressure Drop

00000 o
PhwWwhooN

ooomao
N_Opooooo

MPa

o

15 30 45 60 75 90 105 120

000 0O L/min
Flow Rate

HGFO 42110 200 230 20FS

1.0
0.9
8_0.8
Dag'g 0000000000
[m] 8
oSos b
0304
m} g 03 —= ooomo
0pomoo
MPa 0.2
0.1
0 100 200 300 400
0000 L/min
Flow Rate
HGFO 42110 320 230 32FS
1.0
0.9
S 07
og >
o
g gg'g 0000000000
= é 0:4 >/
0203 boomo |
o | —N_ obooopo
MPa 0.2
0.1
1
0 100 200 300 400 500 600 700 800 900 1000
0000 LUmin
Flow Rate

HGFO 42110 500 230 50FS

o
©

ooooogoood

ooooo
Pressure Drop

0000000
RPhwrO N

/& 0000000000

MP.

D

—
500 1000 1500 2000 2500 3000

0000 L/min
Flow Rate

o

HGLO 42110 100 230 FS

1.0
0.9
207
=g
0906
[m] ; 0.5
=}
og O'i
& 03
MPa 0.2
0.1
L —
0 20 40 60 80 100 120 140 160 180 200
0000Umin
Flow Rate

HGLO 421101 200 230 FS

or
© o

ooooo

» Pressure Drop

<

o
OO0 O«
PN WD oo N o

o

50 100 150 200 250

0000 L/min
Flow Rate

300 350 400

HGLO 42110 3200 230 FS

ooooo
Pressure Drop

<
0
[

CO0O0O0O0000O0kR
PRNWhOoON®©OO

o

200 400 600 800

0000 L/min
Flow Rate

1000 1200

HGLO 42110 5000 230 FS

1.0
0.9
207
ox =
0906
(] ; 0.5
O
o8 O'ﬁ
& 0.3
MPa 0.2
0.1
0 500 1000 1500 2000 2500 3000 3500 4000
0000L/min
Flow Rate

HGLO 421101 8001 230 FS

1.0

0.9
S0y

O = s
O a 0.6
0O 5 0.5
2gor
a 0.3
MPa 0.2
0.1

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000
0000 L/min
Flow Rate




I \o.1 EEEEEEEEEGEEEE

Gasket Type Stop Valves

ooo 10”020%032%
Size oooooo

T HGHO 4211
oooo 0000 Standard Specifications
Symbol oooooo
N Max Working Presstrre 21MPa
oooooog
Seat Test Pressure 31.5MPa
ooooog 42MPa

Shell Test Pressure

0 0bobobooboooooboboouobooobooo
0O Mounting bolts O O-ring included.

000
1o IENERSRERUEE

Pressure Drop Property Chart

0000 0H

OpenH 0000032mm*/sO0 0000000000
() The following characteristic is a representative performance at viscosity 32mm?/s.
\ HGHO 42110 100 23
f M
-
1.0
” H_J 0.9
] =
o7
[F] A=
0506
@} AN oSos
~ O %04
AA . £ 03
A4 wpe 02
0.1
& any -
N A
N > 0 10 20 30 40 50 60 70 80 90 100
] sonan 0000 L/min
X Holes Flow Rate
.
_ i HGHO 42110 2000 23
HEEEED 000000 00Mounting Dimensions oo
Vodel N 102000 Bolt |Mass
ocelNo. | Al Bl E| F| k| L|N|P| h [0000Sik0N| kg
HGH-4211-1023 | 85| 70 | 65 | 50 |25 | 185 |465] 10 | 9 | M8x50 | 4 | 24
HGH-4211-2023 | 113 | 97 | 81 | 65 | 325 | 128 | 588 | 16 | 175 | M16x70 | 4 | 56 32
oo 000000000-Ring Size o 08
D’a 3 |DND o g § 0JIS B 24010 = g 0.7
odelNo. | 5 5 |p.| s | T U | v | w | H [126Al1268[126C[126D Do g'f
HGH-4211-1023 | 22 | 9| 10 | 12 | 39 | 8 | 49 | 26 | 80177 | P18 | G25 |P10 | P2l 0202
HGH-4211-20-23 | 35 | 16 | 16 | 18 | 53 | 10 | 64 | 34 | 120 | 233 | G30 | G35 |P125| G25 cfos
MPa 0.2
0 HGHO 421101 3200 2300 0 O Mass[13.8kg 0.1

o

50 100 150 200 250 300 350 400
M20x 120 0000 LUmin
o

Flow Rate
R~

0000 02695
Open 2695

HGHO 42110 320J 23

107
92

60

@9 =
© o

ooooog
Pressure Drop
O0o0oo0o0o0o
N WH U N o

46

=
o
®

b7.5)
°
=

/
100 200 300 400 500 600 700 800 900 1000
714 4921500

- ] Holes 0000 L/min
127 Flow Rate

o




[ \O.1 EEERGEEEEEEEEE
Gasket Type Stop Valves

000 10%020%032%050%0 80"
Size oooooo

Model No.

HG,HGDU 4350

oooo 0000 Standard Specifications
Symbol oooooo
__M Max Working Presstrre 35MPa
gooood
Seat Test Pressure 52.5MPa
gooooad
Shell Test Pressure 52.5MPa

O oooooooooootouooooooooon
0o oo
00o00oooooooooooooooooos3sMPal0O0O0OOOOOODOO

O Mounting bolts O O-ring included.

0 Characteristic
This valve has the merit that it is easy for you to operate the handle even in the case
of high pressure 35 MPa, as it has the function of internal pressure balance.

0 HGO 43500 10,200 23 0 HGDO 43500 32,500 23

CEEEEEEN —r =
opoose0oOoo0
n case of 50A
ooo —% ooosooOoO é s '
Lift In case of 50A i c g §
™ PIRE 2P
gk @ |4
i o | @ .
o ‘ ) ik
D Q‘D | Lw_l‘::_l M/ = 102
D O (=
1) V> Yar f%
o NN | an G
. @<J & QO -
O £ e e
i 49200 H I~ Z|
lol Holes. : ol s
K Holes'
<] EG L
L E A
A

00000000 Mounting Dimensions 300
102000 Bolt .
0oooooo e
Model No.
A B 2 E @ K L N P Q 0000 Size |0 No. J J]l
_omas 610510 33 M
HG-4350-10-23 | 87 | 72| 59 | 44 |53 |205| 14 | 14 |22 | 6 | Mi2x 85 | 4 s En
P80 101 S N
HG-4350-20-23 [110 | 95| 76 | 61 |70 |38 | 17 | 17 |305| 6 | M16x105 | 4 o1 S r
i
HGD-4350-32-23 | 150 | 120 | 100 | 80 [935 |50 | 25 | 20 |40 | 65| M20x145 | 4 g7z 1 ,l, } ‘
| | f
HGD-4350-50-23 | 240 | 200 | 170 | 130 [158 |85 | 35 | 35 |65 |12 | M30x240 | 4 lﬁ—“,l Joso] g
775 775, M30x 340 /
60
gg onooooon oo
oooooo oo O-Ring Size Mass () f@
0| OJIsSB2401) "
Model No. Vax WA W ax Wi NN
D[ D | T |ho|W|H 126A(126B|126C|126D| Zz |(kg) U AR
HG-4350-10-23 | 10 | 245 | 18 | 76 | 80 |1435| 5 | P18 | P14 | G25 | P11 | 135 | 38 & €] L‘& _
" B
HG-4350-20-23 | 16 |325| 23 | 95| 100 [178 | 7 | G25 | P20 | G35 | P18 | 175 | 80 ﬂ \
280 693300
Holes
HGD-4350-32-23 | 26 | 425 | 29 | 130 | 140 |235 | 10 | G35 | P30 | G50 | — | 215 | 155 S
HGD-4350-50-23 | 40 | 575 | 45 | 220 | 200 |345 | 15 | G50 | P50 | G75 | — |33 | 590

9



HGL 435001 1000 23

o
[oe]
1
|

ooooo

o Pressure Drop
ocooo0o0o0o0
P NWDSOO N

<
T

L—
10 20 30 40 50 60 70 80 90 100

00 00O L/min
Flow Rate

o

HGLO 43500 200 23

HEERN
OO0

=
©

o
©

uogdo

Pressure Drop Property Chart

0000032mm*/s0000000000O0
The following characteristic is a representative performance at viscosity 32mm’/s.

ooooo
Pressure Drop
©oOooo0o0o000
SINPV RN S, Be ) BEN e o)

MP.

P

0 50 100 150 200 250 300

0000 LUmin
Flow Rate

HGDO 43500 320 23

o
o

ooooo

o Pressure Drop
ocooo0oo0o0o0
RPNWDSOOO N

<
T

o

100 200 300 400 500 600

000 0O L/min
Flow Rate

HGDUO 43500 500 23

1.0
0.9
807
o5
0506
m} ; 0.5
(m]
= g 0.4
£ 03
MPa 0.2
0.1
0O 200 400 600 800 1000 1200 1400 1600 1800 2000
0000L/min
Flow Rate
HGDO 43500 800 23
1.0
0.9
807
520
0906
[m] ‘a' 0.5
m]
= @ 0.4
=03
MPa 0.2
0.1
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
000 0O L/min
Flow Rate

10



¥ coooooooooonO

Flange Type Stop Valves

ooo 8*osot
Size

goooon
Model No.

HFO 4211

oooo 0000 Standard Specifications
Symbol oooooo
N Max Working Presstrre 21MPa
gooood
Seat Test Pressure 31.5MPa
gooooad
Shell Test Pressure 42MPa

0O 0O0o0oomois B 2291SssA0 000000

O OobbobooooboOooboO0O0@mUubobom™ HFD-4211700
oooo

O o0obo0oO0oosoMpPal 0003200 0RSMPal0dO40000
ooboooboomoooo HFz-4211"00000000

0O 00boooo0O0000o0boO0bc0o0oO0O000@oboOoOo0boa o
oooommooooooooooooooooooo

Flange types should be per JIS B 2291 SSA.

Ductile cast iron O O Model number is* HFD-4211" .

Max. working pressure of 30 MPall Size of 8A,10A,15A,20A,25A,
32A0 ,25MPall Size of 40A,50A,65A,80A0 0 O O Model number
is* HFZ-4211" .

0 When mounting valve on the unit panel, please inquire and use
panel nutd optionO .

00 |00 Distance
0Dooooo |Bore

Model No.

00000000 Flange
1028000 Bolt

D|L|L|D:|E|F|G|A| B |0000SelN. T|K]|P

HF-4211- 8-23(125| 80| 122 | 9 | 22 |143| 8 | 54 | 36 |M10x35| 8 | 21 | 45 | 60

HF-4211-10-23 [ 125| 80 | 122 |125| 28 |178| 9 | 54 | 36 |M10x35| 8 | 21 | 45 | 60

HF-4211-15-23 | 16 90| 132 |16 | 32 |222| 11 | 54 | 36 |M10x35| 8 | 21 | 52 | 60
8

00000H
Open H

HF-4211-20-23 (20 | 100 | 142 | 20 | 38 | 27.7| 12 | 58 | 40 |M10x 35 21 | 60 | 65
000 Bonnet oo oooooonoo oo
oo O-Ring Size M
000000 [goopoxoo oo 9 ass
Model No. | Hexagon B 0JIS B 2401)
N M W | H | ho | C [126A126B|126C[126D| (kg)
HF-4211- 8-23| 35x 404 M32x 1.5 8 80 | 136 | 74 |30 |G25|G25 |P10 | P21| 37
L oA HF-4211-10-23 | 35x 404 M32x 1.5 8 80 | 136 | 74 |30 |G25|G25 |P10 | P21| 37
L £ HF-4211-15-23| 41x 473 M38x 1.5 8 | 100 | 162 | 84 |30 |G25 | G30 |P125| G25| 42
HF-4211-20-23 | 46x 53.1 M40x 15 | 10 | 120 | 181 | 97 |325|G30 | G35 |P125| G25 | 54

0 HFO 42110 25,320 24,400 800 23

0o0osoo0O0O0O0000OO0O010000000

e oz ow 00 |00 Distance 00O000000Flange 000 Bonnet

e 102000 Bot| | 800000

Model No. Hexagon
d|L|L|D:.|E|F|G|A|B|0o00SeiN T| N M.
HF-4211-25-24 |25 | 135|189 |25 | 45(345| 14 | 68| 48| M12x45 | 8 | 27| 41x473 |M 60x2
HF-4211-32-24 |315| 150 | 204|315 | 56| 432| 16 | 76| 56| m12xa5 | 8 | 27| s0¢577 |M 6ax2
HF-4211-40-23 | 375| 160 | 230|375 | 63| 49.1] 18 | 92| 65| M16x60 | 8 | 35| 5ax624 |M 76x2
zl. HF-4211-50-23 | 475 | 175 | 245|475 | 75| 61.1] 20 [100| 73] m16x60 | 8 | 35| 67x774 |m oox2
an0mamoo Egﬂ HF-4211-65-23 |60 | 210|208 |60 | 95| 77.1| 22 [128|092| m20x 75 | 8 | 44| 71x82  [M100x 2
o HF-4211-80-23 | 71 | 250 [338|71 |108]90 | 25 [140|103] M22x80 | 8 |44 | 77x889 |M115x2

Lift
— . [ ooOdOO0OOO O-Ring Size '\D/Iai
Model No. g 0JIS B 2401)

02 he | K | C W | H |126A|126B|126C|126D|126E| (Kg)
© HF-4211-2524| 75| 90| 38 | 9 | 120|191 | G35 | P25 | G 45 | P25 | G25 | 104
1 4 HF-4211-3224| 85| 95| 43 | 10 | 140 | 214 | G40 | P32 | G50 | P16 | G35 | 124
. HF-4211-4023| 95| 115 | 50 | 13 | 160 | 229 | G50 | P38 | G 60 | P16 | G35 | 200
= HF-4211-50-23 | 110 | 130 | 57 | 17 | 200 | 277 | G60 | P48 | G 75 | P20 | G40 | 272
HF-4211-65-23 | 120 | 150 | 70 | 22 | 250 | 324 | G75 | P60 | G 85 | P22 | G40 | 450
HF-4211-80-23 | 140 | 165 | 78 | 27 | 300 | 370 | G85 | P7L | G100 | P24 | G45 | 616

11




- e cooooooooooo

Thread Type Stop Valves

goo 8*032°
mSize

goooon
Model No.

HTO 4211

oooo 0000 Standard Specifications
Symbol oooooo

__M Max Working Presstrre 21MPa
oooooo 315MPa

Seat Test Pressure

gooood

Shell Test Pressure

000000000000 @IsBO2030RcOO0)OOODO

Oooobbooobobobooooooooooooooob oo
goobooboooooooboobooboboboboboonbog
goooo

42MPa

0 Taper thread coupling typel] Rcl should be per JIS B 0203.
0 When mounting valve on the unit panel, please inquire and use
panel nut option .

0O HTO 4211
w
oo|o0o 000 Bonnet
gooooo Bore |Distance o00o0x00
Model No. Hexagon
z L D K N Mz ho C
z|, HT-4211- 823 | 4 | 90 | 45 45 35x 404 M32x 15 74 | 30
| £ HT-4211-10-23 | 38 | 9 | 45 45 35x 404 M32x 15 74 ] 30
=
HT-4211-15-23 | 12 | 110 52 52 41x 473 M38x 15 84 | 30
HT-4211-20-23 | 3/2 | 110 65 60 46x 53.1 M40x 15 97 | 325
3 o0000000 O-Ring Size Sags
res Dozoom oo 0JIS B 2401)
Model No. O
w H 126A | 126B | 126C | (kg)
. HT-4211- 8-23 8 80 136 G25 P10 p21 19
L @
HT-4211-10-23 8 80 136 G25 P10 p21 19
HT-4211-15-23 8 100 162 G30 P125 G25 31
HT-4211-20-23 10 120 181 G35 P125 625 42
0 HTO 42110 25,3200 24
E oojoo 000 Bonnet
B Bore | Distance
E ooogoo 0000x00
Model No. Hexagon
z L P C ho K N Ma
HT-4211-25-24 | 1 135 | 76 | 38 | 75 90 41x 473 M60x 2
HT-4211-32-24 | Y | 150 | 86 43 85 95 50x 57.7 M64x 2
2-RcZ
S B onooooonO oo
oooooo oo O-Ring Size Mass
. e Model No. o 0JIS B 2401)
W H | 126A|126B|126C|126D| (kg)
HT-4211-25-24 9 120 191 645 P25 P125 | G25 82
HT-4211-32-24 10 140 214 G50 P32 P16 G35 103

12



HT 042110 80 23

1.0
0.9
807
og Y
0506
O ; 0.5
=
= g 0.4
& 03
MPa 0.2
01 =
0 10 20 30 40 50
0000 L/min

000

HO 042110100 23

0000032mm*/s0000000000O0
The following characteristic is a representative performance at viscosity 32mm’/s.

000oooo e
Pressure Drop Property Chart
|:| |:| |:| |:| o.l0 —5 % 5 e 5 90

0000 L/min

Operating Characteristics

HO 042110 150 23

poooo

Pressure Drop
0000000
wH o0

<
o
o
e
= N

/ I L i
20 40 60 80 100 120 140 160

0000 L/min
Flow Rate

o

HO 0 42110 200 23

ooooag
Pressure Drop

=
w

<
o
I
e
= N

o

40 80 120 160 200 240 280 320

0000 L/min
Flow Rate

13



HO -4211-25-24

g
o

oo ooo
U o N ®©

ooooo
Pressure Drop
o o
w

<

o

[
oo
()

o

100 200 300 400 500 600 700 800

0000 L/min
Flow Rate

HO -4211-32-24

g
=}

coooo
U o N ®©

ooooo
Pressure Drop

o o
[

<
o
[
o o
()

L —]
0 100 200 300 400 500 600 700 800 900 1000

0000 L/min
Flow Rate

HF-4211-40-23

Ly
[=}

o
o

o
®

ocoo
oo N

ooooao
Pressure Drop

o o
w

=

0

@
oo
[

0 100 200 300 400 500 600 700 800 900 100011001200

0000LUmin
Flow Rate

HF-4211-50-23

g
[=}

o
©

o
®

ocoo
oo N

ooooao
Pressure Drop

o o
w s

<

o

@
oo
[

0O 200 400 600 800 1000 1200 1400 1600 1800 2000

0000LUmin
Flow Rate

HF-4211-65-23

ooooo
Pressure Drop
0000000
W hHUITON®©O©O

<
)
o
o=
= N

o

0000 LU/min
Flow Rate

500 1000 1500 2000 2500 3000

HF-4211-80-23

L —]
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

0000 Umin
Flow Rate

o0o0oooo0ooo
Closing Torque Characteristic Curve

70 80

o

& 60

S 65

850

g

g o | <1 .50

z
o530 40
O+
0o 32
o T
o0 10 e <15
N-m A | 8.10

0 5 10 15 2021
0000 MPa
Pressure

gboooooooooooboo

Closing Operative Force Characteristic Curve Of Handle

w00 00000000000000000 g
65
400 50
8 -
o
£300 40
2 — .25
%200 =
o g — — 15,20
00100 —T | 8.10
N
|
0 5 10 15 2021
0C0O0O0MPa
Pressure

14



NO.1 jnjugnguiniainingnguinln

Flange Type Stop Valves

ooo 10*08o”
Size oooooo

Model No.

HFO 4353

oooo 0000 Standard Specifications
Symbol oooooo
N Max Working Presstrre 35MPa
gooood
Seat Test Pressure 52.5MPa
gooooad
Shell Test Pressure 52.5MPa

0 ooooooooooboooobooooooossMPal OO OOOOoOOoOoOO

O This valve has the merit that it is easy for you to operate the handle even in the case
of high pressure 35 MPa, as it has the function of internal pressure balance.

00025080000
In case of 250 80A

© G

10010020000
REETE AL ‘ ] = ’

0oOoOH
Gpen A

oF
9E

age
E?
F?
E‘

+ [ —
L T ju]:]
Ly oA
@D
000 |00 Distance 00000000Fange 00 oooooooa oo
Bore oo O-Ring Size Mass
nooooo 102000 Bolt oo 0JIS B 2401)
Model No. u]
d L L do E F G A B |0000 Size|O No.| T D w ho H [126A|126B|126C| (kg)
HF-4353-10-23 1 100 150 1 32 178 15 74 44 M12x 45 8 25 85 7 100 75 129 G25 P16 | G 30 95
HF-4353-15-23 125 36 222 15 132
165 120 170 78 49 M12x 45 8 25 100 10 120 91 154 G30 P22 | G35
HF-4353-20-23 165 44 217 17 131
HF-4353-25-22 215 50 345 19 323
30 180 244 100 65 M16x 55 8 32 140 14 160 119 202 G40 P38 | G50
HF-4353-32-22 30 61 432 20 321
HF-4353-40-22 34 68 49.1 23 64.2
475 230 326 125 84 M20x 75 8 48 170 17 200 156 259 G60 P58 | G 75
HF-4353-50-22 475 81 611 28 62,9
HF-4353-65-22 575 260 376 575 103 771 31 162 110 M27x 100 8 58 220 20 250 191 307 G75 P67 | G 85 | 1175
HF-4353-80-22 67 320 448 67 120 90 34 174 120 M27x 100 8 64 2170 23 300 222 352 G85 P80 | G105 | 175

15



000
oo

Jooood

Pressure Drop Property Chart

oooDoo032mm?/sO0O000000O000OO

The following characteristic is a representative performance at viscosity 32mm?/s.

HFO 43530 100 23

HFO 43530 500 22

@=F
© © o

ooooo
Pressure Drop

OIOOIONO
whuoN

<
o
[
SO
= N

o
S

0 40 60 80 100 120 140 160 180 200

0000 L/min
Flow Rate

=2
=)

e
"o N ®o©

ooooo

o Pressure Drop
o o
w B

© o
[

<
el

o

200 400 600 800 1000 1200 1400 1600 1800 2000

0000 L/min
Flow Rate

HFO 43530 200 23

HFO 43530 650 22

@=F
© © o

oooo
Pressure Drop
cooooo
whuoN

MPa 0.2
0.1
0 50 100 150 200 250 300
0000 L/min
Flow Rate

e
=)

£ 0O0OOooo

o

o Pressure Drop
O0O0O0O000O00
P NWHAOOTO N O

o

500 1000 1500 2000 2500 3000

0000 L/min
Flow Rate

HFO 43530 3200 22

HFO 43530 800 22

e
U o N®©oo

oooo
Pressure Drop

SO
[PRS

<

o

[
SO
[

i

—
100 200 300 400 500 600 700 800 900 1000

0000 L/min
Flow Rate

o

2
=)

e
"o N ®o©

ooooo

==
w s

o Pressure Drop

<
o
© o
)

o

500 1000 1500 2000 2500 3000 3500 4000

0000 L/min
Flow Rate

16




NN O 000000000 0000000000
Forged Carbon Steel Stop Valves ScrewedlFlange Type

ooo 8*0so0”

Size gooooo
Model No.| HT-HFSU 1211
oooo 0000 Standard Specifications
Symbol oooooo
N Max Working Presstrre 21MPa
gooood
Seat Test Pressure 31.5MPa
gooooad
Shell Test Pressure 42MPa

Oo0obO0oobO0ooboobogJisBO2030RcObObOOOonO

0O 000000JsB2291ssA0000000

0 obooboboooboobboobObOoOooOooobOUoboboOoOoOoooo
obocoobomoooooooobooooboOooooboooo

[0 Taper thread coupling typel Rcl should be per JIS B 0203.

0 Flange types should be per JIS B 2291 SSA.

0 When mounting valve on the unit panel, please inquire and use
panel nutd optionO .

ﬁ/-\
™
e 000000 Bore |Distance TITTT
Rz e z L D M: M ho
HT-1211- 8-23 i 80 30 35 404 M32 66
HT-1211-10-23 *hs 80 30 35x 404 M32 66
Mx1.5 HT-1211-15-23 't 90 38 41x 473 M38 76
T HT-1211-20-23 *h 110 46 46x 53.1 M40 8
E z HT-1211-25-23 1 125 53 50x 57.7 M50 93
a° HT-1211-32-23 1'h 150 63 58x 67 M56 103
HT-1211-40-23 1% 175 71 67x 774 M56 117
. HT-1211-50-23 2 210 86 77x 889 M64 133
oo ooooodoo oo
" Mogel No. | B8 SEPR | Mass
0 W H C 126A | 126B | 126C | (kg)
HT-1211- 8-23 8 80 128 25 625 p21 P10 13
. HT-1211-10-23 8 80 128 25 625 p21 P10 13
HT-1211-15-23 8 100 154 31 G30 625 P125 20
res HT-1211-20-23 10 120 172 38 G35 625 P125 33
HT-1211-25-23 11 160 185 45 G40 G35 P16 52
. HT-1211-32-23 12 200 216 535 G645 G40 P20 77
HT-1211-40-23 14 200 234 63 G55 G40 P20 113
HT-1211-50-23 18 250 273 u G65 G45 P24 172
[0 HFSO 121101 80 5000 23
AEEEEE Eolr]e 01 Distance 00000000Flange 0 0 Bonnet
Ooosiz20000 102000 Bolt 000000 Heragon
Incase of 820 ModelNo. | 5| | ||, |p.|E| F |G| A|B[ooooselmT| M M
HFS-1211- 823 125|114 (156 | 9 [22[143| 8| 54[36| M10x35 |8 |21 35x404 |M32
HFS-1211-10-23 | 125|114 | 156 | 125/ 28 |178| 9| 54 /36| M10x35 |8|21| 35x404 |M32
HFS-1211-15-23 |16 | 124|166 |16 |32[222|11| 54 /36| M10x35 |8|21| 41x473 |M38
ER HFS-1211-20-23 |20 | 144|186 |20 |38(277|12| 58 40| M10x35 |8|21| 46x531 |M40
e H HFS-1211-25-23 |25 | 167 | 221 |25 |45|345|14| 68 48| M12x45 |8|27| 50x57.7 |MS0
E HFS-1211-32-23 | 315|192 | 246 | 31556 [432|16| 76|56 | M12x45 |8|27| 58x67 |MS6
@ HFS-1211-40-23 |37.5] 230 | 300 | 37.5| 63491 |18 | 92 65| M16x60 |8|35| 67x774 |M56
HFS-1211-50-23 | 47.5| 265 | 335 | 47.5| 75|611|20| 100 | 73| M16x60 |8|35| 77x889 |M64
«H»-_— @@ oo oonoooooo oo
L ﬁ % DMDOSS EOD E E ucﬂ]g"égz?;'éen Mass
e ° \&JJ | ho 0l w H C |126A[126B|126C|126D| (kg)
o HFS1211- 823 [ 66 8 80 | 128 | 25 625 | G25 | P10 P21 31
5 HFS1211-1023 | 66 8 80 | 128 | 25 G25 | G25 | P10 p21 31
HFS1211-1523 | 76 8 | 100 | 154 | 31 G25 | G30 | P125 | G25 37

HFS-1211-20-23 88 10 120 172 38 G30 G35 | P125 | G25 50
HFS-1211-25-23 93 11 160 185 45 G35 G40 | P16 G35 81
HFS-1211-32-23 | 103 12 200 216 535 G40 G45 | P20 G40 117
HFS-1211-40-23 | 117 14 200 234 63 G50 G55 | P20 G40 180
HFS-1211-50-23 | 133 18 250 273 ” G60 G65 | P24 G45 263

o
>

17



000

i Jooood

Pressure Drop Property Chart

00o00o032mm¥/sO0000000000
The following characteristic is a representative performance at viscosity 32mm?/s.

HII S[111211171100 23 HII S[111211113200 23
1.0 1.0
0.9 0.9
807 807
og > og >
0906 0906
m} ‘g 0.5 m} ‘g 0.5
8004 8004
B fos BELos3
MPa 0.2 MPa 0.2
0.1 0.1 —
0O 10 20 30 40 50 60 70 80 90 100 0 50 100 150 200 250 300 350 400 450 500
0000 L/min 0000 Lmin
Flow Rate Flow Rate
HOO S[11 121107150 23 HO S[11 121107400 23
1.0 1.0
0.9 0.9
807 807
os > mB=d
0§ o6 oS 06
m] ; 0.5 m] ; 0.5
8904 2904
Pfos =103
MPa 0.2 — MPa 0.2
0.1 — 0.1 ——
0 20 40 60 80 100 120 140 160 0 100 200 300 400 500 600 700 800
0000LU/min 0000L/min
Flow Rate Flow Rate
HII S[111211712000 23 HII S[111211015000 23
1.0 1.0
0.9 0.9
807 807
og > og >
0906 oS 06
m} ; 0.5 m} ; 0.5
0904 0904
T &03 T&03
MPa 0.2 MPa 0.2
0.1 0.1 —
0 50 100 150 200 250 300 0 100 200 300 400 500 600 700 800 900 1000
000 0O L/min 000 O L/min
Flow Rate Flow Rate

HOIJ S[1112110 250 23

1.0
0.9
807
o5
0206
[m] ; 0.5
m]
= g 0.4
£ 03
MPa 0.2
0.1 _—
0 50 100 150 200 250 300 350 400
0000 LUmin
Flow Rate

18



NO.1 jnjuiuininininingnininingngngn

Carbon Steel Flange Type Stop Valves

ooo 8*osot
Size

goomoooooboooobooo
oobooooono 92FVvoolB

=)

DO00H
Open H

ooooon

Model No.

HFO 1

280

oooo 0000 Standard Specifications
Symbol oooooo
N Max.Working Pressure 28MPa
gooooo
Seat Test Pressure 31MPa
gooooo
Shell Test Pressure 42MPa

O000o0O0JsFkF 7806 280KOO0OOO0O
gobooooboooboooOooobooboboooboooooboooo
oooooobooooooooboooOobooOooooOoooDo

Flange types should be per JIS F 7806, 280K flange.
When mounting valve on the unit panel, please inquire and use
panel nutd optionO .

0002532000

In case of 25,32A

SOEEEE ED 01 Distance o0 0O O 0 O Flange 0 0 Bonnet
I
Model No. " HoAio G DHDerExXgrD)E
D|L|L:|P|D:|E|F|G|A|B|0000Size|0No| T N Ma
HF-1280- 8-11 |123| 90 [134| 72 | 78|24 |143| 10 | 66 | 43 | M10x 40 | 8 | 22 | 41x 47.3 |M38x 15
HF-1280-10-11 12.3| 90 |134| 72 {109 |30 {17.8| 10 | 66 | 43 | M10x 40 | 8 | 22 | 41x 473 |M38x 15
HF-1280-15-11 12.3| 90 |134| 72 |123| 34 {222| 12 | 66 | 43 | M10x 40 | 8 | 22 | 41x 473 |M38x 15
HF-1280-20-11 |16.2| 100 |150| 79 |16.2| 40 {27.7| 12 | 72 | 48 | M10x 40 | 8 | 25 | 46x 531 |M40x 15
oo ooooooon oo
oooooo | |88 0SEgSEe . |Mass
Model No. &
K W | H | ho | ¢ |126A|126B|126C |126D | (kQ)
HF-1280- 8-11| 52 8 100 | 155 76 | 36 P20 G30 | P125 | G25 59
HF-1280-10-11 | 52 8 | 100 | 155 | 76 | 36 P20 G30 | P125 | G25 59
HF-1280-15-11 | 52 8 | 100 | 155 | 76 | 36 P20 G30 | P125 | G25 59
HF-1280-20-11 | 60 10 | 120 | 173 | 89 | 395 | G25 G35 | P125 | G25 78
00O |00 Distance o0 0 0 O 0O Flange 0 O Bonnet
Ooo0oo0 |Bore 101000 Bolt 000x00
Model No. Hexagon
D|L |L./P|D:|E|F |G|A|B|0000Size|oN| T N Ma
1 HF-1280-25-11 | 21.2| 135 |205| 93|212| 48(345|14 | 85| 58| M12x 50| 8 | 35| 41x473 |M 60x 2
. HF-1280-32-11 | 29.9 | 150 |220|106 |29.9 | 60(432 |18 | 98| 68| M16x 60| 8 | 35| 50x 57.7 |M 64x 2
HF-1280-40-11 | 344 | 160 |240|113 |344| 66(49.1| 20 |105| 74| M16x 65| 8 |40 | 54x 624 |M 76x 2
HF-1280-50-11 | 431 | 175 |275|144|431| 79|611| 20 [130| 90| M20x 80| 8 |50 | 67x 774 |M 90x 2
éﬁ HF-1280-65-11 | 57.3| 210 330|162 |57.3|100|77.1| 25 [150|108 | M22x 95| 8 | 60 | 71x 82 M100x 2
§§ HF-1280-80-11 | 66.9 | 250 |380|186 | 66.9 | 11490 |25 |170|120| M24x 100 | 8 | 65| 77x 889 |M115x 2
oo oooooooo oo
W s : SSLi, e
°] ho | hs | K © w H [126A(126B|126C|126D|126E| (kg)
_\% HF-1280-25-11| 67 | 27 88 | 465 9 | 120 | 185 | G30 | P25 | G 45 | P125 | G25 | 134
HF-1280-32-11| 76 | 27 95 | 53 10 | 140 | 207 | G40 | P32 | G 50 | P16 G35 | 184
‘ ‘ N ‘ T HF-1280-40-11| 84 | 29 | 108 | 565 | 13 | 160 | 222 | G45 | P38 | G 60 | P16 G35 | 234
| ‘ L . HF-1280-50-11| 98 | 29 | 130 | 72 17 | 200 | 269 | G55 | P48 | G 75 | P20 G40 | 411
HF-1280-65-11 ) 108 | 29 | 145 | 81 22 | 250 | 316 | G70 | P60 | G 85 | P22 G40 | 60.1
HF-1280-80-11 | 129 | 29 | 165 | 93 27 | 300 | 363 | G80 | P71 | G100 | P24 G45 | 881

19




000

i Jooood

Pressure Drop Property Chart

00o00o032mm¥/sO0000000000
The following characteristic is a representative performance at viscosity 32mm?/s.

HFO 12800 80J 11

1.0
0.9 /
807
= 2
0206
m} ; 0.5
2304
=803 HFO 128000 400 11
MPa 0.2
0.1 —
0 10 20 30 40 50 60 70 (1)'8
0000 LUmin 0l8
Flow Rate 2 0'7
O ‘D- .
O 0.6
HFO 12800 10,150 11 e
O£ o3
MPa 0.2
1.0 ~ o1 —
0.9
0.8 0 100 200 300 400 500 600 700 800 900 100011001200
o 30.7 0000L/min
o506 Flow Rate
[m} ; 0.5
H 904
) HF[ 12800 5000 11
MPa 0.2 =
0.1
- 1.0
0 15 30 45 60 75 90 105 120 o8
0000 LUmin 0l8
Flow Rate 3 0'7
O 5 .
Og 0.6
HFO 12800 200 11 z e
02 03
MPa 0.2
1.0 01
0.9
0.8 0 200 400 600 800 1000 1200 1400 1600 1800 2000
L 807 L 0000 Umin
0506 Flow Rate
m] g 0.5
2304
= HFO 12800 650 11
MPa 0.2
0.1
0 25 50 75 100 125 150 175 200 225 250 (1)'8
0000 L/min 0:8
Flow Rate =
of 0.7
oS 06
HFO 12800 2500 11 53 g-i
2 0.
HE o3
MPa 0.2 ]
1.0 o1
0.9
0.8 0 500 1000 1500 2000 2500 3000
D§07 00 00L/min
=} g 0.6 Flow Rate
m] ; 0.5
5904
Bfo3 HF[ 12800 8001 11
MPa 0.2
/
0 100 200 300 400 500 600 700 800 é'g
000 0 L/min 0I8
Flow Rate = 0'7
O 5 .
O 0.6
HFO 12800 3200 11 e
Of 03
MPa 0.2
1.0 01 —
0.9
0.8 0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
DSOJ 0000 Umin
o % 0.6 Flow Rate
m} ; 0.5
5904
B fo3
MPa 0.2
0
0 100 200 300 400 500 600 700 800 900 1000
0000 WUmin
Flow Rate

20



NO.2 ujujujujuysyslajuiusya)u)uinls
Gasket Type Throttle Stop Valves

oo0 10%020%032%050%
Size oooooo

Model No.

HGL 8210

oooo 0000 Standard Specifications
Symbol oooooD
o Max Working Pressure 21MPa
; gooooo
R Seat Test Pressure 315MPa
O o0obooooooooooboooooooogon OGO 06
0 oo Shell Test Pressure 42MPa

goboooobooooobooboooooooboOoooooooooonG
goboooboooooboooooooboooooooooooOoobOooooOboOoooooooOoOoOooonoo
goboooobooooooooooobooOoOoOoooOoOoooooooboooOoboOoooobooon

0 Mounting bolts O O-ring included.

O Outline:
The throttle stop valve is used for the flow rate limit of hydraulic circuit.
Turning the handle to the right make decrease the flow and cut off the flow finally. Turning the handle to
the left make increase the flow in proportion to opening degree, on condition that pressure difference of
inlet and outlet is constant.
Performance is the same as the reverse flow.

0 HGO 82100 32,32J,500 22

»

ﬂ_%

|
‘ H

T~

0OO00OH
Open H

0ooooH
Open H

1 W
fjsrl\ﬁ
00032)50000000000
In case of 32J,50 part of seat.
_— 49ho0 4h00
N Holes Holes
E P E [
A
80
EB 0 0 O O Mounting Dimensions
oooooao oo
X Model No. U
D|D:|D-| S| T W/ H|A|B|E|F|G|L]|K
/é HG-8210-1023 |22 | 9|10 |13 |33 | 7 | 80|180| 85| 70| 65| 50 |465 | 185 |25
- 0
2 8 : HG-82102023 | 35 | 16 | 16 | 17 | 44 |125|120 | 228|113 | 97| 81| 65538 | 128 | 325
o8 atily
B8, 0 o0 HG-8210-32-22 | 45 | 30 | 30 | 29 | 72 [19 | 160|333 | 140 | 140 | 104 [ 104 | 52 | 266 | 52
0|GM10x P
sl 4] HG-8210-323-22 | 45 | 30 | 30 | 29 | 72 |15 |140|295|127|127| 92| 92|46 |206 | 46
J HG-8210-50-22 | 65 | 48 | 48 | 31 | 90 [23 | 180|380 | 180 | 160 [ 140 [120 |82 |30 |60
0 O O O Mounting Dimensions O%%D ng o oo
-RINg Size Mass
9 H] pooooo 102000 Bolt 0JIS B 24010
Model No. -
] N | P | h [0000Size|0 No.|126A|126B|126C|126D |126E | (kg)
/F\ HG-8210-1023 | 465 | 10 9 | M8x 45| 4 | P18 |PI25|G5 | - | - | 25
A%
HG-8210-2023 | 588 | 16 | 175 | M16x 60 | 4 | G30 |P18 | G35 | — | — | 59
ﬁ L%\ @ LA 2 g
NZZANS o 5 HG-8210-3222 | 774| 18 | 215 | M20x100 | 4 | G40 |G50 | P24 | P38 | P18 | 17
& €5 g HG-8210-32J-22 | 714 | 175 | 215 | M20x 100 | 4 | G40 | G50 | P20 | P32 | P15 | 134
e 491100 HG-82105022 [110 | 20 | 24 | M22x120 | 4 | G6O |G75 | P30 | P44 | P20 | 288
47.6 Holes
60.3 9.9|
80

21



000
oo

Oooddn
Pressure Drop Property Chart

00o00o032mm¥/sO0000000000
The following characteristic is a representative performance at viscosity 32mm?/s.

HGO 82100 1000 23 HGO 82100 3200 22
4P0.15 A4P0.3 A&S_ 4P1 4P2 AP3MPa AP0.15 A4P0.3 AP0.5 AP1 AP2 AP3MPa
100 St N 100
Y YV 1Y N By Y
90 / 90 /
80 7 80 | <
/17 Ngpd | £ /17
.g 70 - % 70 / 7 —
B R T o317/ 7
o & 50 O 50 /
14 / 0o
" g a0 2 40—
< / T /
. 11/ % 1
0
201 20077
10 10
0 10 20 30 40 50 60 70 80 90 100 110 0 100 200 300 400 500 600 700 800 900 1000 1100
0000 LUmin 0000L/min
Flow Rate Flow Rate
HGL 821001 10J0 23 HGO 82100 32J0 22
4P0.15  ZP0.3 AP0.5 AP1 AP2MPa AP0.15 AP0.3 AP0.5 AP1 AP2 AP3 /P4MPa
100 — 100 S
> e VARV Y 3
90 90 +
< Zps |
SiEd = o 80 / /
3 = [ 7
Le" 7 70 117
o260 / / % 60 I 7
= 77 o3 1717
250 08 o1/
< 7 0w AT
T a0r—/7, 24011/ 7
% @©
30{-£/ T 50177
i % 1]
/7 ol
WPz 10lf]
I
0 10 20 30 40 50 60 70 80 90 100 110 0 100 200 300 400 500 600 700 800 900 1000 1100
0000 Lmin 0000 LUmin
Flow Rate Flow Rate
HGO 82100 200 23 HGO 82100 5001 22
A4P0.15 4P03  4P0.5 APL 4p2 AP3MPa AP0.15 éﬂ]_ﬁ AP05 APIMPa
1y LA % s > =~ 00 74 I 2 S~
90 /L 0 7
_80 1 - 80
£70 - g 70 /
o S60 / 360 7 e
Sl — e O 50 =
o 77 b 7 =
540 / 240 e
w 30117 T 30
% 17 %
201/ 20—+
10 o[
=
0 50 100 150 200 250 300 350 400 450 0 100 200 300 400 500 600 700 800 900 1000 1100
0000 Lmin 0000 L/min
Flow Rate Flow Rate

22



WPl cooooooooooooonO
Flange Type Throttle Stop Valves

ooo 10*08o”
Size oooooo

Model No.

HFO 8210

oooo 0000 Standard Specifications
Symbol oooooD
o Max Working Pressure 21MPa
; gooooo
L Seat Test Pressure 315MPa
gooooo
Shell Test Pressure 42MPa

O 00obogJsB2291ssA000000O0O

0O 00025A000000000000000000000000
gobobooobooooobooooooobOoOoOoooboooooo
oobooooooo

0 Flange types should be per JIS B 2291 SSA.
0 When mounting valve on the unit panel, please inquire and use
panel nutl option[ (I110 Size of 25A, 32A, 40A, 50A, 65A, 80AT

00 |00 Distance 00000000 Flange
Bore|

ooooog 102000 Bolt
Model No.

d L |L |do| E|F |G| A | B |0000Size[ONo| T
HF-8210-10-24 | 125| 80 | 122 | 125| 28 | 178 | 9 | 54 | 36 M10x 35 8 | 21
HF-8210-15-24 | 16 90 | 132 |16 | 32 [222| 11 | 54 | 36 M10x 35 8 | 21
HF-8210-20-24 | 20 100 | 142 | 20 38 | 277 12 | 58 | 40 M10x 35 8 21

0000 O0OH

oo ooooOoooo (OO0
oooooo oo O-Ring Size  |Mass

oo [0JIS B 2401)
Model No. O

N C| P |h | K W | H |126A|126B(126C| (kQ)
HF-8210-10-24 | 36x416 |30 | 60 | 51 | 45 | 7 | 80 | 170 | G25 |P125| G25 | 4.0
HF-8210-15-24 [ 41x473 |30 | 60 | 59 | 52 | 93| 100 | 185 | G25 |P15 | G30 | 53
HF-8210-20-24 | 46x531 |325| 65 | 72 | 60 | 125 | 120 | 208 | G30 |P18 | G35 | 6.2

Ly [3

O O | 00 Distance 00000000 Flange
ooooo0 |Bore 102000 Bolt
- on . ModelNo. | |\ ||, |do| E|F|G|A|B [ooooselon] T h|c|K
HF-8210-25-24 | 25 | 135|189 25 45|345| 14 | 68| 48| M12x45 | 8 | 27 | 75| 38 | 90
HF-8210-32-24 | 315|150 | 204 [315| 56 |432| 16 | 76| 56| M12x45 | 8 | 27 | 85| 43 | 95
HF-8210-40-24 |137.5| 160|230 |37.5| 63|49.1| 18 | 92| 65| M16x60 | 8 | 35 | 95| 50 | 115
HF-8210-50-24 | 475|175 | 245|475 75|61.1| 20 |100| 73| M16x60 | 8 | 35 |110| 57 | 130
L [L o HF-8210-65-24 |60 210|298 |60 | 95|77.1| 22 |128| 92| M20x75 | 8 | 44 |120| 70 | 150
1%5 T HF-8210-80-24 | 71 |250(338 |71 |108|90 | 25 | 140|103 | M22x80 | 8 | 44 |140| 78 | 165
= ® i
p O O Bonnet [0 CHUHEDD oo
& M DMDOSe? '\DIOD. s oo 091 B 2401) B2
- \*ﬁ M M 0| W | H [126A|126B|126C|126D|126E | (Kg)
%6 oK HF-8210-25-24 | 50x 57.7 M 64x 2 15 | 140 | 255 | G35 |G 45| P20 | P32 | P15 | 114
155 @ HF-8210-32-24 | 55x 635 M 76x 2 19 | 160 | 290 | G40 |G 50| P24 | P38 | P18 | 14
2 HF-8210-40-24 | 70x 80.8 M 90x 2 23 | 180 | 330 | G50 |G 60| P30 | P44 | P20 | 22
— _'lf HF-8210-50-24 | 75x 865 M100x 2 25 | 200 | 368 | G60 |G 75| P35 | P49 | P24 | 30
lr, 3lu|w fﬁ HF-8210-65-24 | 90x 104 M115x 2 29 | 250 | 413 | G75 |G 85| P40 | P55 | P25 | 48
© &% HF-8210-80-24 | 95x 110 M120x 2 31 | 300 | 450 | G85 |G100| P44 | P60 | P28 | 65
o
.___j\mz R
¢ 0B
L T OA
u

23



- BNl coooooooooooooO

Screwed Type Throttle Stop Valves

ooo 10*020*
Size oooooo

Model No.

HTO 8210

oooo 0000 Standard Specifications
Symbol oooooD
o Max Working Pressure 21MPa
; gooooo
L— Seat Test Pressure 315MPa
gooooo
Shell Test Pressure 42MPa

O ooooooooooooJisBO2030RcOO0OOOOOO

0O Taper thread coupling type O RclO should be per JIS B 0203.

0000 0OH
OpenH

oo poooxoo(2 0 onoooooo|oo0
i oooooo |Bore Hexagon E E O-Ring Size | Mass
0JIS B 2401)
Model No. o
d|L|D|h|C|K N W | H [126A | 1268 | (kg)

HT-8210-10-23 | 3/ | 90| 45 | 51 |30 | 45 36x 41.6 7 | 80|170| P125 | G25 | 30

HT-8210-15-23 | Y/, |110| 52 | 59 |30 | 52 41x 473 9.3 100 | 185 | P15 G30 | 43

2-Red

HT-8210-20-23 | 34 | 110 | 65 | 72 325 | 60 46x 531 125120 |208 | P18 G35 | 52

24



HO 0 82100 1001 281 240

ZP0.15 4P0.3 4P0.5 4P1 4P2 4P3 ZP4MPa
¢pos
100 NRVALY
90 // /
80 B
s 7
570 /
[=]
= &360 717
O o 50—
40
£ Il///
o 30
2olfl
10
|:| |:| D 0O 10 20 30 40 50 60 70 80 90 100 110
0000 Lmin
|:| |:| |:| Flow Rate

Pressure Drop Property Chart

0doooo32mm*/s000000000O00 HO 0 82100 1501 281 240

The following characteristic is a representative performance at viscosity 32mm’/s.
4P015  4P03 £P05 AP1MPa
100 v >
90
80
=
o {4P2
70 7 P
260 <aP3
93 / A
Dy e
0 /
E 40 /
o 30
2017
10 /
0 20 40 60 80 100 120 140
00 00 L/min
Flow Rate

HO 00 82100 200 281 240

@Mﬁ gﬂ_@ 4P0.5 4P1 Z4P2MPa
Az NT Y Y Y Y
) -
i 4P3
50 77 i
g 77 7
3 77
o S 80
(0]
O x50 117
0o
Tap L
£ 3017
i) 11
201777
s
0 50 100 150 200 250 300 350 400
0000 L/min
Flow Rate

25



HFO 82100 2501 24

HFO 82100 5001 24

4P0.15 P03 4P05 4PIMPa
SN —

100 b4 b >
90

o]
o

o
N
3

o

5 O o
o

o

ooog
Handle Revolution

@
S
N

%

S

N
o

[
o

1
0 50 100 150 200 250 300 350 400 450 500 550

0000 L/min
Flow Rate

2p0.5 P03 ZPosiPa
100 5 S —
90 ~
80
5
570 4p1
o £60
[ r
O 4p2 7iP3
0 350 -
2
240
o 30 ] Y L4 |
20
10
0 100 200 300 400 500 600 700 800 900 1000 1100

0000 L/min
Flow Rate

HFO 82100 320 24

HFO 82100 650 24

4P0.15  4P0.3 AP0.5 AP1 AP2MPa
ey NI Yl ¥ b%
90 +—-
80 7 Ars
570 VARA
5 /17 Jipa
260 717
[ /
Ocg, /
Do [ 7
=}
§40 //
% 30—
20
0 100 200 300 400 500 600 700 800 900 1000 1100
0000L/min
Flow Rate

4P0.15 4P0.3 4P0.5MPa
100 b4
90
/
= 0 / ALLPL
70 /
%60 _ACAP2
o>
o / 4P3
0 550 » +
=
<40
8 /
9 30
20
10[-4
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200
00 00 L/min
Flow Rate

HFO 82100 400 24

HFO 82100 800 24

4P0.15  4P0.3 4P05 4P1MPa
S <~

100 Y ~/ b
90

o]
o
N

S
\\

S
A
3

N

P4

A g o N
S ©
N~

\\

ooo
Handle Revolution

w
o
7]

%

S

N
S
\\

=
o

0 100 200 300 400 500 600 700 800 900 1000 1100

00 00O L/min
Flow Rate

100
90

ooo
Handle Revolution
A O O N @
o O O O O

S
W
o S

=
o

4P0.15 4P0.3MPa
AT
A4P0.5
4P1 | _4P2
A
P
N 4P3
/
/V
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200
0000 L/min
Flow Rate

26




NO.3 jnjnininininininininininlingningn

Cracking pressuré¢l0.15MPa

Gasket Type Throttle Stop Valves With Check

oo0 10%020%032%050%
Size

goboobbDooo.15MPa

ooooon

T HGL 9210

oooo 0000 Standard Specifications
Symbol oooooo
A g | MaxWorking Pressure 21MPa
| gooooo
1 Seat Test Pressure 315MPa
N — |
gooooooooboooooooooooooo gooooo 42MPa
oog Shell Test Pressure

goooooooooooooboooooboooooooobooooboooooboooooobooboooo
goooooooooobooooboooOooboooooboooooOoOoOoDOOoOoOoOoboOoOooOoOoOobOoOOoOoo
000000000000000000000000000000000000000000000O0
goooooboooooooooooooo

Mounting bolts [ O-ring included.

Outline:

The single-throttle stop valve is used to limit one-directional flow rate to any rate and to release counter-directional
flow into free flow. In the case of the flow in limited direction, the valve opening-degree and the flow rate are
proportional to one another, under such a condition that differential pressure between upstream line and downstream
line is kept constant. Counter-directional flow is enabled to pass through at full flow rate by the built-in check valve. If
the main valve is fully closed, this stop valve actuates as check valve.

0 HGO 92100 10,10J,200 23 0 HGO 92100 320 23

om
Lift

s/ 1

0O0000H

Open H

oW

00Oo0OH
Open H

ch_

/r_. )
(=
VAN N
=B\ x]
O] B

49h00 N
Holes

49h00
Holes

— — oo 0 0 O O Mounting Dimensions
=== Dooooo 2k
= G Model No. O
® D|Di|S|T|Y W| H|A|B|E|F| G K
1] @ HG-9210-10-23 | 22 9 | 12 79| 49 7 80 (225 | 87 72| 65| 50| 185 | 25
HG-9210-10J-23 | 28 | 14 | 15 | 92| 49 | 7 80 (231 | 82 | 70|603|476| 18 238
26 I|lT
& 8 HFi HG-9210-20-23 | 35 | 16 | 19 | 97 | 64 |125 (120|279 | 115 | 99| 81| 65| 272 | 325
B | G i
25 « HG-9210-32-23 45 | 30 | 29 | 112 | 99619 |160 |373 | 140 | 140 | 104 | 104 | 52 52
@ g HG-9210-32J-24 | 45 | 30 | 29 | 152 | 875|15 |[140 |377 | 168 | 129 | 92| 92 | 46 46
- HG-9210-50-24 | 65 | 48 | 31 | 200 (108 |23 |180 |490 | 182 | 162 | 140 | 120 | 58 60
1 & 14 + ‘{E*
0 0O O O Mounting Dimensions oooooooo oo
.QE*,‘ 1) NG I_J UjL oooooo O-Ring Size Mass
B K-b oD || oD 102000 Bolt| 0Jis B 24010
S M Model No.
{9 {D L | N|P1|P2| h [0000 Size|0 No.|126A|126B|126C|126D|126E | 126F | (KQ)
T HG-9210-10-23 (185 465/11 |11 | 9 M 8x 90 | 4 | P18 | G25 | P18 [P125| G25 | — 46
ar Yar N | DL
4-¢ hal %J\\:J x] HG-9210-10J-23 (12.7| 47.6/10.9|11.2{11 |M10x 105 | 4 |P22A| G25 |P22A|P125| G25 | — 48
%} AN HG-9210-20-23 (12.8| 58817 |17 |175/M16x 115 | 4 |G30 |G30 |G30 |[P18 | G35 | — 99
LN & HG-9210-32-23 [26.6| 77.4/18 |18 |215|M20x 140 | 4 | G40 | G50 | P24 |P38 | P18 | G45 | 28
E Py HG-9210-32J-24 [20.6| 71.4/57.5|185(21.5|M20x 180 | 4 | G40 | G50 | P20 (P32 | P15 | G45 | 24.8
A
HG-9210-50-24 (30 {110 |21 |21 |24 |M22x230 | 4 | G60 | G75 | P30 (P44 | P20 | G55 | 40.7

27




00O
i Oooddn
Pressure Drop Property Chart

00o00o032mm¥/sO0000000000
The following characteristic is a representative performance at viscosity 32mm?/s

0

HGLO 921001 1000 23 HGO 921001 320 23
4P0.15 4P0.3 4P0.5 4P1 4P2 4P3 £4P4MPa é_P0_1§ ‘ﬁ_PQE 4P0.5 4P1 4P2 4P1 4P3MPa
e Iy T TS e N AvAVA b STV >
o i - . &9 A, 7 7
a7 ; 7 717 / 7 >
gBG 1 : g 80 17 <
5 70 r//I // / .5 70 // // - ,/\ 2P05 ‘,//\ P4 :
<] f 5 / 7 g
oS AW/ 3 /A 7 ] ; 7
= &)60 7Y ] 7 7 5 %60 177 - 2 .
0 @ 50—/ — ; - o &s0—4f -/ ‘ /
= ; ' : + / =) f f T
€ sl 171 ] - Laol 1/ 7 v 7
= o = : : S ool 117} : ]
o J/ i i ac i , / P2_| /
% 30 // / 7 y " 30 /5 7 < - y
207 )V‘ 4P0.5 ( Z4P1 f 20 / // -
n % A ’ A V2 @ :. ; 7 7
I il ! [ 1 ! / /
0 10 20 30 40 50 60 70 80 90 100 110 0 100 200 300 400 500 600 700 800 900 1000 1100
0000Lmin 0000 LU/min
Flow Rate Flow Rate
HG[ 921000 10J001 23 HG[ 921001 32J01 24
4P0.15 4P03 4P0.5 4P1 4P2 4P3MPa 4P0.15 4P0.3 AP0.5 AP1 AP2 A4P3 AP4MPa
100 T T ‘y < ~ 100 S VAR N ‘y T
90 — 90 A — :
i . 1 4 : '
8 17 7 - 880 IByAVARVA 7 !
s s St A AA i
5 7 7 7 o 1 i
=L TS i = o geo—7 A , ,
o &sor—f yZi S w5011 /7 ; '
“Sal— L/ . ; i R ¢’ ; ;
2 7 78 ; 7 g 11/ f ; /
& 17 7 r 7 17 / ] 7
T30 77, 7 7 % 30 1177 0 1 7
0 L N i
LR/ / ; ol 7 TSz ¢ Z
/4 N gpoa S zPos ZpP1 7 1l I 7 ZP05 / ZP1
10% ; ¥ X 10 W/ H A
0 10 20 30 40 50 60 70 80 90 100 110 0 100 200 300 400 500 600 700 800 900 1000 1100
0000 L/min 0000 L/min
Flow Rate Flow Rate
HG[ 921000 200 23 HG[ 921001 5000 24
4P0.15 4P0.3 4P0.5 4P1 4P2 AP3 /P4MPa A4P0.15 4P0.3 AP0.5 4P0.3 Z4P1MPa
100 ) vl b FaD 100 R4 D /0 2 S S ¢
e | s = % ; 7
80 /”/ / 7/ ’,' - ’v, ,/ 80 ) 7
et e : 5" /
o8 T : " o5 a Tt —
i ! 7 P3
v 7 : 00 y K S '
O o ! Ji i @ / /] /
SO 17717 2l 7 §4° / > i
30 7'// / ; 2P| P2 . S5 / / 5
% 20 77, T 7 7 % 20 f Z— 2P05 | 7
)/ (P03 ,/ % / ] //' b
10 + e ~ — 10 - -
0 50 100 150 200 250 300 350 400 450 0 100 200 300 400 500 600 700 800 900 1000 1100
0000Umin 0000 Lmin
Flow Rate Flow Rate




NO.3 jnjninininininingnininlngngngn

Flange Type Throttle Stop Valves With Check

ooo 10*08o”
Size

0000000 00oaAs5MPa
Cracking pressureél0.15MPa

2100 1 23

goooon
Model No.

HFO 9210

0000 Standard Specifications

gooooo
Max.Working Pressure 21MPa
gooooo
Seat Test Pressure 31.5MPa
gooooo
Shell Test Pressure 42MPa

O 0O0oo0oo00oJss2291ssA00booonog
O o0o002sA0000000000000000O0O0O0C0O0O0OO
goooooooooooooobooooooboooooooboboOoo
ooooooood

0 Flange types should be per JIS B 2291 SSA.
0 When mounting valve on the unit panel, please inquire and panel nut
O optionD .0 0 O 0 Size of 25A, 32A, 40A, 50A, 65A, 80AD

0 0O Distance 00000000Flange
Dooooa 102000 Bolt
Model No.
L |L |Lz|Ls|do| E F G A B (0000 Size|0 No.| T
z HF-9210-10-23| 80 | 122 | 54 | 49 |125| 28 | 178 | 9 | 54 | 36 | M10x 35 8 21
5 e
E HF-9210-15-23| 90 | 132 | 65 | 60 | 16 32 |222| 11 | 54 | 36 | M10x 35 8 21
¢ HF-9210-20-23| 100 | 142 | 71 | 64 | 20 38 |27.7| 12 | 58 | 40 | M10x 35 8 21
Ls L
—0 00| ooooxoo EE ooOoOoOooo |00
_AIOD Bore |[Hexagon O-Ring Size Mass
= nooooo o 0JIS B 2401)
Model No. 0
d N ho | K W | h: | H |126A|126B|126C|126D|(kg)
HF-9210-10-23] 125 | 36x 416 51 | 45 7 80 | 39 | 170 | G25 |P125| G25 | G25 | 4.4
HF-9210-15-23] 16 41x 47.3 59 | 52 93] 100 | 49 | 185 | G25 |P15 | G30 | G30 | 6.0
HF-9210-20-23] 20 46x 53.1 72 | 60 | 125|120 | 50 | 208 | G30 |P18 | G35 | G30 | 7.0
DDDDDDED 00 Distance 0O0000000OFange
Model No. |- 102000 Bolt
d|L|L|L:|do| E|F |G| A | B |0000SeliN| T |ho| K |D
HF-9210-25-23 (25 |135|189 | 87.525 45|345| 14 | 68| 48 (M12x45| 8 | 27 | 85| 95| 80
HF-9210-32-23 [31.5| 150 | 204 | 96 |315| 56 432| 16 | 76| 56 |M12x45| 8 | 27 | 95| 115 | 92
HF-9210-40-23 [37.5| 160 | 230 (108 |375| 63|49.1| 18 | 92| 65|M16x60| 8 | 35 [110| 130 (108
HF-9210-50-23 [47.5| 175 | 245 122 |475| 75|61.1| 20 |100| 73 |M16x60| 8 | 35 [120 | 150 (124
gl S HF-9210-65-23 (60 | 210|298 139 |60 95(771| 22 |128| 92 |M20x 75| 8 | 44 |140| 170 |144
HF-9210-80-23 (71 | 250|338 (148 |71 |108|90 | 25 |140|103 |M22x 80| 8 | 44 |155| 175 (160
2 Lo
000 Bonnet Sg ooooooon oo
ooooog O-Ring Size Mass
0ooox0oo
Model No. | Hexagon 0 g OIS B 2401
Mz M W | h: | H |126A/126B|126C|126D|126E|126F|(kg)
HF-9210-25-23| 50x 57.7 | M 64x2 | 15 | 140 | 70 | 255 | G35 |G 45| P20 | P32 | P15 | G45 |17.5
L BOOO
L L _oa | HF-9210-32-23| 55x 635 | M 76x2 | 19 | 160 | 81 | 290 | G40 (G 50| P24 | P38 | P18 | G50 |21.7
HF-9210-40-23| 70x 808 | M 90x2 | 23 | 180 | 95 | 330 | G50 (G 60| P30 | P44 | P20 | P55 |315
HF-9210-50-23 | 75x 865 | M100x 2 | 25 | 200 | 108 | 365 | G60 |G 75| P35 | P49 | P24 | P65 |43
HF-9210-65-23 [ 90x 104 M115x 2 | 29 | 250 | 127 | 413 | G75 |G 85| P40 | P55 | P25 | P75 |64
HF-9210-80-23 | 95x 110 M120x 2 | 31 | 300 | 135 | 450 | G85 |G100| P44 | P60 | P28 | P8O |80

29




000
oo

Oooddn
Pressure Drop Property Chart

00o00o032mm¥/sO0000000000
The following characteristic is a representative performance at viscosity 32mm?/s.

HFO 92100 100 23

2P0J5  £PO3APOS Zp1 22 2P3 _Papa
100 ¥ VI Ty A
o0 7 P03 7 7
= ® . PV T
S 70 7 7 7 7 7
=3 4 /
> / / 7 7
o % € i AN
g % ® /// 4 717 ) ~
3 40| — - -
0 S B HFO 92100 400 23
T 30177 7 %
% 20l A . 4POI5  gP03 gROS 2P ZP2wpa
- - 7 ~ 00— i -
i , sof—| a7
0 10 20 30 40 50 60 70 80 90 100 110 120 & [ 7 4 ; ]
0000 L/min 5 I / , % 7 Pal
Flow Rate 570 71 7 P35
) 7 ] ,
O > 60 I 7 7
o 0|2 7 5
HFO 921007 1500 23 oo , FAa = B
g 40 7 7
4P0154P03  4PO5 LeL 2P2 JP3MPa T 30 /’ = T # J_Jl:
T 7 T %
T YT ) - 2 et — 7
/ 3 ’ 7 0 2 ¥ - ZP1 Az
= /- / / : - —
S 4 H ! 0 100 200 300 400 500 600 700 FOO 900 1000 1100 1200
5 H ' 7 L 0000 L/min
o2 i : 7 Flow Rate
o8 7 7 1
=8 - i a
g z ; / HFO 92100 500 23
T 7 7 7
% T R T s £P015 2P03 ZPosiPa
2 I A 100 = 77
% 7 / @ m; 77 7
60 80 100 120 140 1 0 180 200 220 240 80 7 1'
0000 L/min 8 — v e . i
Flow Rate 50 7 7 T I
(m] qu 60 A < 7 APZ‘ %
HFD 92100 200 23 0g® G G i
£ 4 7 Zr 7
4P015 APO3  ZPOS 4p1 ] Zpavpa T 30 // # 2 v d
100 N YTy T o - S % L 7 7 1
” / ’ ’ y Z NP ) [AF1
] ’ 7 7 10 : T -
- 80 7 - : T - ——
22 7 7 ; 7 0 100 200 300 400 500 600 700 800 900 1000 1100 1200
2 VA i v P |/ 0000dLUmin
0 3 60 f / ; - + Flow Rate
O g, ! 7 7
Do 7 7 7
7 7 7 7
R i : HFO 92100 6501 23
T 30—/ , 7 7
o 7
% 5 - ANRDS | APl P2 ZPO1S P03 POS ZP1vPa
11/ VA% A ) - 100
® 1 T YT =
- - %0 /
0 50 100 150 200 250 300 350 400 450 < g0 7 /
0000 L/min 2 — ”
Flow Rate % 70 yi
o3 /
60 G
o ,’
O o 50 7 JP3
HF[O 92100 250 23 2 O it
S 40 ¥ g 7
4P0.15 4P03  4P0S ZP1MPa %I 30 ff ,l 7
100 > 4 TN o 1 7
- 7 7 7 J : Vi
P ; 10 ‘ /
- 80 . / - i 7
o i 7 7 0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
s o »: 7 B 0000 Lmin
0 g 60 g ~ Flow Rate
O B 7
5§ s 7 2 = -
- 7 4P4 a
T 40 7 2
c , 7 : HFO 921007 8001 23
T 30 v ya
0
% 20 . S ReL 2P0.15 P03 LPOSMPA
777 i 7 z 100 L —
10 g . - b2 X
7 7 7 o //Tj 7
0 50 100 150 200 250 300 350 400 450 < 80 W, ZP1
0000 LUmin S -
Flow Rate =R 7 7 ?
o % 60 7 7 T 4P2
O ’ 7 i
HFD 921000 320 23 5% o
= A ; )
4P015 4P03 gPO5  4PL 4p2 ZP3MPa T 30 5 .
100 % P~ S % 4 !
- i i 7 7 - 20 ANV R VAT T
7 ' : ’ //§ 2P 10 - { - + %
S5 A ramy, 7 7 - s T i
= 17 / 41 7 Z 0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
o8 A ; - . 0000 L/min
o geo 1 T/ 7 Flow Rate
0w sol— AV X! - . -
b=l s : s
a 407 7 7 7 7
T 77 7 7 7
o 3077 ) 7 AL ZP3
20| 7 i -
A ] ,
10 / / L / S /
7 1
0 100 200 300 400 500 600 700 800 900 1000 1100 1200
0000 L/min
Flow Rate

30



oWl O OO0 00000 000ooooa

Gasket Type Check Stop Valves

000 10%020%032%050%
Size

oooooooOooooOoOoOoooboOoOoooon
oo

|

goooooooooooooboooooboooon

Mounting bolts [0 O-ring included.
Characteristic:

oo

0000000 000.05MPa
Cracking pressurél0.05MPa

goooon
Model No.

HGL 6211

0000 Standard Specifications

gooooo
Max.Working Pressure 21MPa
31.5MPa
oooooo
Seat Test Pressure 0 O O 32060
21MPa
gooooo
Shell Test Pressure 42MPa

a stop valve to prevent forward flow, too, and to close perfectly the passage.

0 HGO 62110 10,10J,200 25

000000000000000000000000000000000000000000
0000000000000 00000000000000000000000000000

This valve with both stop valve function and check valve function acts as a check valve to prevent backward
flow if the handwheel is shifted to* full open” . If the handwheel is shifted to “ full close” , this valve acts as

W
r/—\/ —) T~
00000000 Mounting Dimensions
7 ODooEoD 102000 Bolt
2 > T Model No.
o | < g‘; A|B|E|F|G|K|L |N/|P:|P| h |0000Sie|0No
Lift 2 ola
. 8 \ HG-6211-10-25| 85| 70 |65 |50 |465 |25 |185|465|10 |10 9 M 8x 45 4
I-E HG-6211-10J-25| 80 | 68 | 603 | 476 | 423 | 238 | 127 | 476 | 99| 102 | 11 M10x 60 4
126)
& - 4 HG-6211-20-25] 113 | 97 |81 |65 |538 (325|128 |588 |16 |16 |175| M16x 60 4
IN _I D2 ouT ”, L
9D 9D
G oo onoooooo oo
nooooo g O-Ring Size Mass
e () Model No. O 0JIsS B 24010
D | D D. S T W | H |126A|126B|126C|126D | (ki
&J k.ﬂ/ XI HG-6211-10-25] 22 9 10 | 13 | 33 | 45 80 | 146 | P18 G25 | P10 P21 | 24
& @
K N g HG-6211-10J-25| 28 | 14 | 14 | 16 | 46 | 45 80 | 151 | P22A | G25 | P10 P21 | 26
N = 43'1‘35 HG-6211-20-25| 35 | 16 16 | 17 | 44 | 7 120 | 202 | G30 | G35 |P125| G25 | 58
oles
E Py
A
00000000 Mounting Dimensions
gooooo 102000 Bolt
Model No.
A|B|E|F|G|K|L |N]|P h 10000 Size|0 No.
HG-6211-32-24 | 127 | 127 92 | 92 46 46 | 206 | 714|175 | 215 | M20x 100 | 4
HG-6211-50-24 | 180 | 160 | 140 | 120 82 60 |30 |110 |20 24 M22x 120 | 4
oo oooooooao oo
oo O-Ring Size Mass
nooooo g EIJISBg2401D
Model No. 0o
D D: S] T W H |126A|126B|126C |126D | (kQ)
HG-6211-32-24 | 45 30 29 72 10 160 | 262 | G40 | G50 | P16 | G35 | 125
HG-6211-50-24 | 65 48 31 90 15 250 | 361 | G60 | G75 | P22 | G40 | 295

31



HGO 62110 100 25

g
=}

ooooo
Pressure Drop
coooooo0o
wh oo N®o

E<
e
)
o o
)

T

0O 10 20 30 40 50 60 70 80 90 100

0000 L/min
Flow Rate

HGO 62110 1030 25

HEERN

1.0
Ooooomo =
HREEN 5 gg.;
oSo.
Pressure Drop Property Chart
= I 0.4 >
0000032mm*/s00000000000 S
The following characteristic is a representative performance at viscosity 32mm’/s. Mea 01

o

20 40 60 80 100 120 140 160

0000 L/min
Flow Rate

HGO 62110 200 25

ooooo
Pressure Drop
00000
wH 0o~

/

<

o

»
oo
)

0 20 40 60 80 100 120 140 160 180 200

00 00 L/min
Flow Rate

HGO 62110 3200 24

1.0
0.9
807
020
0906
m} ; 0.5
(m]
o g 0.4
w08 -
MPa 0.2
0.1
0 100 200 300 400 500 600 700 800 900 1000
00 00 L/min
Flow Rate

HGO 62110 500 24

0.5

I
~

o
w

o
)

Pressure Drop

<
o
)

I3
o

0 100 200 300 400 500 600 700 800 900 1000

0000 L/min
Flow Rate

32



[l o4 EEEEEEEEEEEEEEEE

Flange Type Check Stop Valves

ooo 8*osot
Size

0000000 000.05sMPa
Cracking pressureél0.05MPa

10 80

25

goooon
Model No.

HFO 6211

0000 Standard Specifications

gooooo
Max.Working Pressure 21MPa
31.5MPa
oooooo
Seat Test Pressure 0 0 O 25082040
21MPa
gooooo
Shell Test Pressure 42MPa

O 00OobOogJisB2291ssA000000O0O

0 Flange types should be per JIS B 2291 SSA.

. w
f———\ ™~ /_\j ™
26
1 3
I
olx
i —(® :
alé N ™
o [alus) —
Lift 1é5
© iCmm
i
\ / ouT 3
- ~ . 7
_ .l . L
N w =3 S
= g @
L HIE o ; <§
o + +
S
N~
FE_ 0B
L T OA
Ls P
0 0 |00 Distance 00000000Flange 00O Bonnet EE oooooooa oo
Bore O-Ring Size Mass
90D DE 102000 Bolt 0ooo0x00 oo 0JIS B 24010
Model No. Hexagon O
d L L. do E F G A B |0000 Size|D No.| T ho k M M P (3 w H |126A[126B|126C|126D| (kg)
HF-6211- 825 | 125 | 80 | 122 | 9 22 | 143 8 54 | 36 M10x 35 8 21 | 74 | 45 35x 404 M32x 15 45 | 60 |30 100 | 136 | G25 | G25 |P10 | P21 | 38
HF-6211-10-25 | 125 | 80 | 122 | 125 | 28 | 178 9 54 36 M10x 35 8 21 | 74 | 45 35x 404 M32x 15 45 | 60 |30 100 | 136 | G25 | G25 |P10 | P21 | 37
HF-6211-15-25 | 16 90 | 132 | 16 32 |22 1 54 | 36 M10x 35 8 21 | 80 | 52 35x 404 M32x 15 6 60 |30 100 | 145 | G25 | G25 |P10 | P21 | 43
HF-6211-20-25 | 20 100 | 142 | 20 38 | 217 | 12 58 | 40 M10x 35 8 21 | 97 | 60 46x 53.1 M40x 1.5 7 65 | 325 | 120 | 182 | G30 | G35 |P125| P25 | 52

33



0 HFO 62110

ooo2s000
In case of 25A

\
\
Iz M
clos
T
E 9K
g %)
9
$
<] o
L T oA
L P
00000000Flange 0 O Body 0 O Bonnet BE oooooooOo |00
O-Ring Size Mass
oooooa
102000 Bolt ooooxoo oo
Model No. - Hexagon 0 0JIS B 2401)
do G | A | B |0000 Size ho M. M P H |126A|126B|126C|126D| (kg)
HF-6211-25-25 25 14 | 68 | 48 M12x 45 75 0 41x 473 M60x 2 9 90 195 | G35 | G45 |P125| G25 | 10.2
HF-6211-32-25 315 16 76 56 M12x 45 85 5 50x 57.7 M64x 2 95 219 | G40 | G50 |P16 | G35 | 127
HF-6211-40-25 375 18 | 92 | 65 M16x 60 95 54x 624 M76x 2 115 247 | G50 | G60 |P16 | G35 | 20.3
0 HFDO 62110 500 800 25
oW
L
E3
olz
olg
0|6 R
s[us] r__ b
Lift
@ I E & 5 4
SN
(< £
IN
L
L
00000000Flange 0 O Body 0 0 Bonnet ooooooono oo
O-Ring Size Mass|
ODODoE 102000 Bolt 0000x00 0JIS B 2401)
Model No. - Hexagon
do G A B | 0000 Size ho Mz M Ha 126B|126C|126D|126E |126F (kg),
HF-6211-50-25 475 20 | 100 | 73 M16x 60 110 0 67x 774 M 90x 2 170 G 75| P48 | P20 | G40 |G 85375
HF-6211-65-25 60 22 | 128 | 92 M20x 75 120 71x 82 M100x 2 187 G 85| P60 | P22 | G40 |G 95578
HF-6211-80-25 71 25 | 140 | 103 M22x 80 140 77x 88.9 M115x 2 215 G100 | P71 | P24 | G45 | G105 |812

34




HFO 62110 100 25

ooood
Pressure Drop

=
w

<
o

®
[=}
[N}

\S

o

10 20 30 40 50 60 70 80 90 100

oo EEEEEGEEE o
- uogdo

Pressure Drop Property Chart

0000O032mm*/s0 0000000000 HFO 62110 1501 25
The following characteristic is a representative performance at viscosity 32mm’/s.

ooooo
Pressure Drop
oooo
S OO N

@l
w

<

o

[
oo
)

o

10 20 30 40 50 60 70 80 90 100

0000 L/min
Flow Rate

HFO 62110 200 25

0.8

S oo
o

L—

0 20 40 60 80 100 120 140 160 180 200

0000 L/min
Flow Rate

S5



HFO 62110 250 25 HFO 62110 500 25

1.0 1.0
0.9 0.9
g 8'27; 2o
og > o5
0906 0906
m} ‘a' 0.5 O ; 15
(m] m] 4
=£0a = £ 03
a 0. a 0.3
MpPa 0.2 MPa 0.2
0.1 01—
0 100 200 300 400 500 600 700 800 0 200 400 600 800 1000 1200 1400 1600 1800 2000
0000 L/min 0000 L/min
Flow Rate Flow Rate
HFO 62110 320 25 HFO 62110 650 25
1.0 0.5
0.9
S 07 g
020 o8
0506 0903
[m] ; 0.5 ] ;
(m] m]
S 2 0.4 3 @ 0.2
& 03 & —
MPa 0.2 MPa 0.1 ——
0.1
0 100 200 300 400 500 600 700 800 0 100 200 300 400 500 600 700 800 900 1000
0000 Lmin 0000 L/min
Flow Rate Flow Rate
HFO 62110 400 25 HFO 62110 800 25
1.0 0.5
0.9
807 g
020 o8
0506 oS o3
[m] % 0.5 ] ;
(m] m]
S goa =¥ 0.2 —
=03 — 01
MpPa 0.2 MPa 0- —
0.1 ———1 —
0 100 200 300 400 500 600 700 800 900 100011001200 0 100 200 300 400 500 600 700 800 900 1000
0000 L/min 0000 LU/min
Flow Rate Flow Rate

36



e cooooooooooooon

Modular Type Accumulator Stop Valves

ooo 200328
Size oooooo

Model No. HGZOACC
DSD Ell)EII 0000 Standard Specifications
ymbo
l_ A cc __] lﬁax%VoE(in?PreDssEe 30MPa
1 ’ |éleaDt Tle:lstEre?sui 45MPa
L ’ . Eheﬁ TEstIDDreEsEe 45MPa

P DR
O ooooooooooooOOOOOODOODO
O oooooooooobooooboooooboooboooooboo
HGZO ACCO 20x 10024000
goboooodooooseobboooooGc3ononone 20
HGZOACCO 32x 10024000
go00o0doooo73obooooooc400000¢ 32

0 Mounting bolts 0 O-ring included.

0 Please use the following connection flange to accumulator.
In case of HGZ ACCL 20x 100 23: Mounting bolts pitch(] 0 0 [0 56 , O-ring sizel] 0 [0 G30, Port
size0 O 0@ 20
In case of HGZJ ACCL 32x 100 23: Mounting bolts pitch 0 0 0 73, O-ring sizell 0 [ G40, Port
sizeD O 0¢@ 32

EARRMANYE N
MAIN VALVE

4-¢14 L HOLES

E<0920 216
D.C.B#20 DEPTH16
0
<

AV~

64

N (%

120
88
84

420

Iy

ACC #-+ PORT @

7

Y
vy

o[
7

il

T 1

4-M12 %220 DEPTH20

. :

i

P1110] ’-,"

P1810

65 KUY ARARN KL
AN HANDLE

N
\ .
N

2
7
7/; M12x 70 40

18

0 HGZO ACCO 32x 100 240 00 Mass12.4kg

EARMAN K -
MAIN VALVE o
3
140 o)
= =
1374 R ezl pd
3
4-918 U HOLES 10 63510 (7 = a2
HLP26RE24 g
0.C.B926 DEPTH24 L S
G40 10
o N P #-F PORT
of o 7{}
7= .
)-( B

134
96.5
94

@ C) @ g == PDlRZ;ErPORT
J(\‘AP {ej/;\ccmwpom; 2 =

3

—— o) E
4-M16 %26 DEPTH26 2 £l 28
pP1110 (' als ol
i
S
- \'//{2$ iy ©
p1g10 (1% 65

FUYABRAN KL
DRAIN HANDLE

110
(T

60

M16x 110 40

37



I \o 5 EEEEEEEEEEEEEE

Flange Type Accumulator Stop Valves

000 10%020%032%040%0 50
Size oooooo

Model No. HFO ACC
23 oooo 0000 Standard Specifications
L Symbol
gooooo
l—*'— _T Max Working Presstrre 21MPa
gooooo
i ’ Seat Test Pressure 315MPa
L J 0oooooo
Shell Test Pressure 42MPa

goooooLsACO0O0DOOOOooOoOooooooooon
goooogdz2sMPabl00OO0O0O0OO0O0OOOOOOOODOODOO

oo
00000000000000000000000000000000000
00d0o0oooooooo0oooooooooooooooooonooo
goooooooooobooooboooooboooooooooooooOooooo
oooo

e 1 OO

The drain line is provided with LSA type flange of special dimension.

In case of Max. working pressure of 25 MPa, please consult us.
Characteristic:

The root valve and drain valve of the accumulator are integrated to avoid
complex piping and to enables direct connecting of the accumulator root pipe
and drain pipe to this integral valve unit.

The root valve with throttle valve function can adjust variation of flow velocity
in the accumulator.

L0 i s |

000000000 Breakdown of model number
HF-ACC-O0 Ox 10-23

L gooo Design number
000000000 (mm) Diameter of drain port(mm)

00000000 (mm) Diameter of main port(mm)

000000000 Accumulator Stop ValvesO 00 00 Mounting Dimensions

0o ooo
gooooosOOOOOOOOOOODOOAOOOOOOOO
oooooooooooooo
choogooboooooboobpoooooooobobooooboooo
gbobooooooooooBOobOOO0OOOOODOOODO
ooooo
0ooo0o0o0o0o0ooo0o0o0o00oo00o0ooo0ooogoocecooon
gobooboooboooboooboooboooooooooooo
gobooobooobooooooooooooooooooooo
goboooooooooooooobooooooo
AlO000OO0OOO0DOOOoOooOooon
ADO00O0OO0O0OO0O0OO0O0O0O0O0O0000

ooooooo
Accumulator

oooo
Drain pipe

0 Explanation:
After dismounting B-flange in the right Figure from the valve
body, A-portion can be screwed in the accumulator.
After jointing the C-flange to the drain pipe and D-flange to the
root pipe respectively, connect them to the accumulator and
joint B-flange with the valve body.
Thus, the piping connection work can be done very simply and
C-flange enables the drain pipe to be jointed not only from
behind as illustrated in this Figure but also from vertical
direction and front direction. Furthermore, when mounting of
relief valve is required, a connection flange is provided at the
opposite side of main valve handle.
The standard specification does not include A-portion.

ooogoooog

In case of part of A included, please consult us. 000000 Handle of the drain valve
Handle of the main valve 00
Main pipe

38



0o0ooooooog
Main handle - —

L uw

00o032x 10000
In case of 32x 10

~— N/7TN- -7 N

00oooooooooo
Drain handle

0000OoH
Open H

000000000000
Accumulator port

M8 45
a0

—
80

y

n
| ——e T

G 0B

030 9178 = =

=
M e | @ @ L b oA
goooooooo L2 0000 0H:
Drain port = Open Hi

ooooom
Main port

ombOi1oxi1o000000000020x10000000
ooooszo0000o000o0000o00

0oo0ooUoFlange oooooOooo lEIEI
O-Ring Size
oooooo
102A0 00 Bolt 0JIS B 24010
Model No.

di | d L L. | L2 H | Hi | W | do E F G A B |0000Size|(0No.| T |126A(126B|126C|126D|126E|126F| (kg)
HF-ACC-10x 10-23 125 | 28 | 178 9 59

20 12 | 100 | 142 | 475 | 141 9 | 120 58 | 40 M10x 35 8 21 | P125 | P125 | G30 | G35 | P20 | G30
HF-ACC-20x 10-23 20 38 | 217 | 12 58
HF-ACC-32x 10-23 | 32 | 25 | 110 | 164 | 605 | 202 | 109 | 180 | 315 | 56 | 432 | 16 | 76 | 56 M12x 45 8 27 | P20 | P125 | G55 | G40 | P20 | G40 | 133

[0 HFO ACCL 40x 100 2300 0 O Massl22.5kg

ooooo w 160
ooooog

/" Main hand wheel
4

G40 10

P18 10

P32 10

52510 M16x 60 i 65 10 0oooooon
ooooooo o0o0om

M10x 55 —an & l G50 20 Accumulator port
Drain handle g [
)\ 40 :
VA S 7
< 1 H TN [he 1
& z /
S w
1] 1] - - 81—
8|
- 125
> » P
036 1 | $
oooo 178 630 10
54 oooog G125 10 oo s

Drain port 00| o0 0oom
Main port 140 35 092

0000 0209 Open 209
0000 0200 Shut 200

80
9
3
949.1
963

36

028
L 69 0000 0114 Open 114 210
= 0000 0110 Shut 110

39



HFO ACCL 32x

NSO 110 0O O MassO13.8

oogoooooog I 9180 |

40 M16x 2,0 0270 Depth

P2010

0000 [ 2080 Open 208
0000 01990 Shut 199

M8x 45

22
SR

e
©

o ]
- 8 2 8 \
m
3
- ¥ & &
030 p17.8
300 /P12.5 10 P40 100 0o0ooood 70 70 o073
44 928 Main port
49 49 140 098
000000000
Drain port
66.5 0000 01110 Open 111
0000 01070 Shut 107

ooooooooodo
Drain handle

000000000000

/ “Accumulator port

NSO 730 0 O Mass29.6

0000000000 0180 ,
/ Main hand wheel
L
G35 101
i P16 10
000 15
&3
5|5 — G8010)
slo .
alo
2ls
HE P4210
oo 40 M16x 200280 Depth
=1 DDMDDD"DD [s]sfs]sisis[s]s]s]s]s's}
olo lain por Accumulator port
o|o { /
40 M22x 2.5,01 013700 Depth :
0103 /—p— |
/
/
G2510 / [
/
gooooooooon 1
M10x 55 Drain handle a / 1
a0 ! 942 A
/
40 A % - N
T T 3 kA
\ < h
000 7
g@ B e & /1 \-.
- g P
0125 i . - R {} {}
® t I 8 e—e—%— B
4 . .
JCRER:: ) N/
Eamy= B =—
036 pirs P1110) P1810 75 75 073
54 30, 69 69 150 138
000000000 89 0000 01420 Open 142
Drain port 0000 01350 Shut 135

40




NO.5 jujujujuiujsys}sluiuluyayn)uln
Gasket Type Accumulator Stop Valves

000 10%020%032%040%
Size oooooo

Model No.

0000 Standard Specifications

gooooo
Max.Working Pressure 25MPa
gooooo
Seat Test Pressure 37.5MPa
gooooo
Shell Test Pressure 37.5MPa

O oooooooooootouooooooooon

0 000000ssA00000000000000O0O0
SsA00000000000000000000* Ors” 000000

0 oobOO0ooooOO0oOoobOOoOooobOOoOoooDo

00 Mounting bolts O O-ring included.
0 In case of type of flange is SSA, please consult us.
SSA type flangeU O O End of Model number is* OFS” .
O In case of type of the valve with relief valve, please consult us.

0 HAGO 100 40x 100 FL

z-z0O Draw

ey FOPTO0 1)
‘Accumulator port \1I oN IV m j_ j.

o1 [

of | od

q [u h:
° ES] 0| 1 - -

oK

49h00 Holes

00000V OopenV

00000000 Mounting Dimensions 0000000 OFange
oooooao
102A0 00 Bolt 102B0 00 Bolt
Model No.
A B Cc D. D2 = F G h (0000 Size|O No.| ¢ K L M N P oooo o
HAG-10x 10-FL 125 28 178 9
9 | 125 68 20 11 75 19 65 14 M12x 105 4 40 45 M10x 60 4
HAG-20x 10-FL 20 38 217 12
HAG-32x 10-FL 120 | 150 88 24 16 2 30 72 18 M16x 130 4 315 | 56 63 56 432 16 M12x 80 4
HAG-40x 10-FL 130 | 170 98 34 16 102 37 75 18 M16x 130 4 375 | 65 7 63 49.1 18 M16x 95 4
oo oooooOoOoO 0o
oooooo BE O-Ring Size Mass
. B 0 JIS B 2401)
do du H Q R S T u \ W | 126A | 126B | 126C | 126D | 126E | 126F | (kg)
HAG-10x 10-FL 107
20 21 35 16 4 49 18 87 72 315 120 630 P20 635 P12 P22 630
HAG-20x 10-FL 104
HAG-32x 10-FL 2 kil 45 18 54 58 25 105 90 387 160 G40 P20 645 P20 P32 G40 214
HAG-40x 10-FL 38 37 55 20 64 58 25 105 90 417 160 650 P20 G50 P20 P38 G50 255

41



000

i Jooood

Pressure Drop Property Chart

00o00o032mm¥/sO0000000000
The following characteristic is a representative performance at viscosity 32mm?/s.

oooooossAOO0OOOO0O0O0OOOO0O0COO

HFO ACCO 20x 100 23 HAGLO 20x 100 FS
1.0
0.9 1.0
0.8 0.9
2 07 208
<] =
25 o6 ECw
= A o206
o5 05 5
= 2 O 905
28 o4 o&o4 <
& 03 0.3
MPa 0.2 MPa 0.2
2l 0.1
0 20 40 60 80 100 120 140 160 0 100 200 300 400 500 600 700 800 900 1000
0000 Umin 0000 LUmin
Flow Rate Flow Rate
HFO ACCO 32x 100 23
HFO ACCO 32x 1000 NSO 11 HAGO 32x 100 FS
1.0
9 10
0.9
. 08 g 08
o 0.7 o=
=5 507
o 06 s D06
2305 0305
0O @ 0
oo 04 m] g 0.4
8 03 0.3
MPa WIPR @2
01 / 0.1
! —
0 100 200 300 400 500 0 200 400 600 800 1000 1200 1400 1600 1800 2000
0000Lmin 0000L/min
Flow Rate Flow Rate
HFO ACCO 40x 100 23 HAGO 40x 100 FS
1.0 1.0
9 0.9
g os 208
ya o
o8 o7 o507
o5 06 o206
0§ o5 0305
L 04 o
wpa 03 8 8'3
a 02 MPa >
0.1 0.1
0 100 200 300 400 500 600 700 800 0 200 400 600 800 1000 1200 1400 1600 1800 2000
0000 LUmin 0000Umin
Flow Rate Flow Rate

HFO ACCO 50x 100 NSO 73

ooooo
Pressure Drop
Ocoooocoopk
wWh OO ~NOOO

<

)

[
o
N

0.1

0 200 400 600 800 1000 1200 1400 1600

0000 L/min
Flow Rate

42



Il \o.6 EEEGEEEEEEEEEE ]

Gauge Valves Screwed TypelGasket Type

ooo 8*Dio”
Size

goooon
Model No.

Gvl

oooo 0000 Standard Specifications
Symbol oooooo
N Max Working Presstrre 21MPa
gooood
Seat Test Pressure 31.5MPa
gooooad
Shell Test Pressure 42MPa

00000000 Breakdown of model number

GVOG220G0

0000..00000 No code:screwed type
G...... 000000 G:gasket type

22..00 71 Bore /4B

33...00 Y4 Bore%:B

G..000D0O0000 G:globe type

A..000OO0OOOO A:angle type
(0000000000 DO0O00 (except for gasket type)

0 GVO G22G0 0 O Mass0.8kg 0 GVUO G,A0 O O 0O Massd0.4kg
Eﬁ:{&

o [ ( ﬁ@]

P510

.

0000 095 Open 95
0000 093 Close 93

59

M18x 1.5

P9 20 0026x30

)
Hexagon |
] |
= 025
MSx 40 LI

40

0000 086 Open 86
0000 084 Close 84

9 37
N T
T B
e D
Rin 12
<
5

46

28

RAl7 @
e
4
)

18

LA
36
50

495500 Holes

goooooooooooooooooooon
OMounting bolts 0 O-ring included.

Re sl

i /]

Re sfs

0
00 Outlet &

00 outlet

00 Inlet

J000MmO00ooo@E@IisBO203RcO)0noood
OTaper thread coupling typé] RcOshould be per JIS B 0203.

43




I \o.7 EEGEEEEEEEEEE

Damper For Pressure Gauge Screwed Type

goo 8*0io”

Size 0ooooo

Model No.

0000 Standard Specifications

gooooo
Max.Working Pressure 21MPa
gooooo
Shell Test Pressure 31.5MPa

0 ooobooooooooooooooooooooooo

| T H‘i“rf 0 Turn the adjusting screw by one turn maximum from the
J )I N !}‘\ '5 " full close position.

By e

O ooooooooooo

geboGcoooT

goGebOorROOOT

0015

Max

RA

17

oooag
Hexagon

0015

R (& &)
VinY
\%

D & << &

P310

17

0000
Hexagon

RA
2 -$- = i)-l= e - & -$ < |
= i dis ‘:I_ 8 S§ == BE
0] oT = 0 oT
! o = 2
. —~ |
él L AN It RcB
D 26 D 26
59 59
oo oo
oooooo LEES oooooo HEES
Model No. Model No.
A B D E F (kg) A B D E (kg)
GD-GO2-T 4 Uy 15 115 14 04 GD-RO2-T s Uy 15 115 04
GD-GO3-T 38 3 18 12 16 04 GD-RO3-T 38 35 18 12 04

[0 GDO G030 0 O Mass[0.4kg

[0 GDO RO30 0 O Mass[0.4kg

e [ 1]
. = Vi
|=
v \
< | —J$$
) 9 H
) B
é zﬁ 17 oz 17
oooo
EELES ! Hexagon
3 - [ P310 P310
G G .
@D o © 0
F — w 5 s NEE '
if=ss e 5 SHSSIK ENE
0 o E
2 &
2 8 \_G s Re ¥
18 26 18 26
3 59 3 59




Nl O 00000 000000000000
Needle VValves Screwed TypelGasket Type

ooo 8*0i10”015”t

Size gooooo
Model No. GNOoono
oooo 0000 Standard Specifications

Symbol oooooD
o Max Working Pressure 35MPa

; gooood
R Seat Test Pressure 525MPa

gooooad
Shell Test Pressure 525MPa

0 ooooooobooeoOooooooooo
O 0oooooooooooooOoOoOoOOOOobOOOOOODbOOD0OD0OO

0 Taper thread coupling typell RcO should be per JIS B 0203.
O In case of gasket type , mounting bolts 0 O-ring included.

OGNTO OO [0 GNGL 0200 0 O MassO1.1kg0
—‘ M8

== 7L M6x 40

Open 94

0000094
00J 4
Lift

95
—

%gﬂ E‘Ef [0 B Hexagon e zzz
°|° 1 . 204
L. 126, 2| [0 B Hexagon
9d: e
8 ] } ¢ I € S
E2 o
Red d \ Red &J ol = ﬁR /AR
00 Inlet T 00 outlet oo &—y &/ 496.600 Holes
T
L OA |
& @]
-6.2
OGNTOOODOL
oo 000000
0ooooo 2e 000 |Mass
Model No. 5]
d|L|dl|d:|A| B M W | h: | he | H|126](kg)

GNT-02 e | 50 | 3 |M 8| 24 | 24x277 | M20x 15 50 | 36 | 48 | 83| P 7 |04
GNT-03 s | 55| 5 |M8| 27 | 24x27.7 | M20x15 | 6 |50 | 36 | 48 | 83| P 7 |045
GNT-04 V.| 65| 7 [M10| 32 | 32x37 M27x 15 | 8 | 65 | 44 | 60 105 P10 |07

~

" A E E 010000
T g5 oooooo 000 |Mass
oz = T(_E : 00 B Hexagon oo
El == 126 Model No. 0
3% T 8] d|L|di|de|A B M W | h: | hz | H |126|(kg)
i A A
e 2 R GNT-02-L | " |25 | 3 (M 8|24 | 24x27.7 | M20x 15 | 4 |50 | 36 | 48 | 83| P 7 |04
= E
oz [ GNT-03-L | 7 |275| 5 |M 8| 27 | 24x27.7 | M20x15 | 6 |50 | 36 | 48 | 83| P 7 | 045
&
- oo, - ;\g GNT-04-L | ¥.|325| 7 [M10| 32 | 32«37 | M27x15 | 8 | 65 | 44 | 60 |105 P10 |07
i N Red
J 00 outiet
Red L OA

00 Inlet

45



000
oo

Joobogtdog

FlowllPressure Drop Curve

00o00o032mm¥/sO0000000000

The following characteristic is a representative performance at viscosity 32mm?/s.

GNTO 02
00oo0o0000o0o0o0o0o0O0 ApP:Differential Pressure
Handle Revolution-Controlled Flow Curve
0 /P4MPa
g 15 4P2
o8 L ——
= né /,K
0o 10 — ,AA
(s L,,A
L/min / 4P03
5 —
0 1 2 3
goooooom
Handle Revolution
GNTO 03
000o0o000o0ooooO Ap:Differential Pressure
Handle Revolution-Controlled Flow Curve
50 /P4MPa
40 —
g | 4F2
g @ 20 |«
= 5 > 4P1
[ |
Umin 20 P03
10 —
/
0 1 2 3 4
goooooom
Handle Revolution
GNTO 04
0000000000000 0 AP:Differential Pressure
Handle Revolution-Controlled Flow Curve
X Z/P4MPa
80 -

2 L—] AP2
m //—
O 60
= — 4P1

i L
L/min &0 L M

I
20
/
0 1 2 3 4 5
goooooom
Handle Revolution
GNTO 0200 04
0oooo000omooon
Flow-Pressure Drop Curvé] at Full Openl]
a 2.0 T T
o
o5 g |
531.5 ,LGNTOZ ZGNFO?:
22 1.0
7] .
B [ / < GNT-04
a 05
MPa —]
0 10 20 30 40 50 60
0000 L/min
Flow Rate
GNGO 02
0000000000000 0O AP:Differential Pressure
Handle Revolution-Controlled Flow Curve
ZP4MPa
of P2
= —A
03 15 4P1
w
L/min 1 | 4P0.3
1|
0 1 2 3

ooooooom
Handle Revolution

GNTO 0200 L

ooo
Flow Rate
N N
o ul

[
1

L/min 19

000000000000 00 AP:Differential Pressure
Handle Revolution-Controlled Flow Curve

ZAP4MPa

0 1 2 3
ooooooom
Handle Revolution

GNTO 030 L

ooo
Flow Rate

0OO0O0000000O000 AP:Differential Pressure
Handle Revolution-Controlled Flow Curve

60
50

\gP4MPa

40 AP2

A

S0 / 4P1
L/min g

10 \.4P0.3

0 1 2 3 4
goooooocm
Handle Revolution

GNTO 040 L

12

[
o
o

8

ooo
- Flow Rate

c
3
S

60

40 /
20

000000000000 00 A4P:Differential Pressure
Handle Revolution-Controlled Flow Curve

’ L
/

N.ZP4MPa

/

—] N 4P0.3

0 1 2 3 4 5
goooooocm
Handle Revolution

GNTO 0200 0

40 L

Fl

2.0

gooooooomoooo
ow-Pressure Drop Curveél at Full Openl]

GNT-02-L| /

e
2

MP.

[

ooooo
Pressure Drop
- =
o u
|

GNT-03-L

/ GNT-04-L
==

0 20 40 60 80

00 00L/min
Flow Rate

GNGO 02

Fl

ooooa
Pressure Drop

MP

]

2.0
i85
1.0
0.5

0000000000000
ow-Pressure Drop Curvél at Full Open(]

0 5 10 15 20

0000 L/min
Flow Rate

46




[l NO.9 EREEEREEEEE
Gasket Type Check Valves

oo0 10%020%032%050%
Size

ooooon

Model No. |  HGCU 4211

oooo 0000 Standard Specifications
Symbol oooooo
IN ouT Max.Working Pressure 21MPa
gooooo
Seat Test Pressure 31.5MPa
gooooo
Shell Test Pressure 42MPa

O ooooooooooooobooooboooon

O ooooogoz2s5MPall 00 000000O0O0O00O0" HGCZ-4211” 0O0O0O00O0O0OO

0 Mounting bolts O O-ring included.
0 Max. working pressure of 25 MPa 0 0O 00 Model number is* HGCZ-4211" .

0000000 o00oiAMPa
Cracking pressurel0.1MPa

GCO 421 23

- M Cian

00000000 Mounting Dimensions
“_ N oo0oo0oooo

| 102000 Bolt
ModelNo. | A | g | E | F |6 |k|L|N|P| h [0000selN

@R
8
?—
H
~

HGC-4211-10-23 | 8 | 70 | 65 | 50 | 465 |25 | 185|465 | 10 | 9 M 8x50 | 4

U i u HGC-4211-20-23 | 113 | 97 | 81 | 65 | 538 | 325| 128 | 588 | 16 | 175 | M16x 60 4
9D, 9D: Xr

S e

oooooo BE 000000 | R e |00
(7 _E\ el o Hexagon |1 35's 34011 Mass
L ModelNo. | o | p |p, | H | O] s | T M [126A[126B| (kg)
@@ @? ol = HGC4211-1023 | 22 | 9 | 10 | 69 | 45 | 13 | 33 | 36x416 | P18 | G5 | 25
W Y |.
@ N HGC-4211-2023 | 35 | 16 | 16 | 100 | 7 | 17 | 44 | 46x531 | G30 | G35 | 45
S Y o
N
N
. - 49h00 Holes
A
0 HGCO 42110 32,500 23
— i
i OEOEEEE 00000000 Mounting Dimensions
Vodel N 102000 Bolt
e = T T odelNo- 1 A B | E|F |G |K|L|N|P|nh [0000sSe[0N.
i - HGC-4211-3223 | 127 | 127 | 92 | 92| 46 | 46 | 206 | 714|175 | 215 | M20x 100 | 4
1/2\6
HGC-4211-50-23 | 180 | 160 | 140 | 120 | 82 | 60 |30 |110 |20 |24 | M22x120 | 4
)72 111 o N |
IN 9D 9D ouT .
G
(c Pan) oooooo 8o 0000x00 | Glring Size |10
‘e} NV Model No gE Hexagon |35 g 24010 | Mass
m ’ D | D:.| H 0| s | T M 126A|126B| (kg)
- uf @ HGC-4211-3223 | 45 | 30 | 147 | 10 | 20 | 72 | 50x577 | G40 | G50 | 119
U x|
A HGC-4211-5023 | 65 | 48 | 182 | 17 | 31 | 90 | 67x774 | G6O | G75 | 22
é} fereer SRV o

49h00 Holes

47



HGCO 42110 200 23

ooooao

» Pressure Drop
o
(4,1

<
o

0.1 — |

0 20 40 60 80 100 120 140 160 180 200

oo EEEEISE -
uogdo
OO0

Pressure Drop Property Chart

0000O032mm*/s0 0000000000 HGCO 42110 3200 23
The following characteristic is a representative performance at viscosity 32mm’/s.

1.0
0:9
0.8
0.7
0.6
0.5
0.4
0.3

ooooo
o Pressure Drop

<
)

0.1

0 100 200 300 400 500 600 700 800

000 0L/min
Flow Rate

HGCO 42110500 23

o
2

o
IS

o
w
\\

ooooo
o
N

o Pressure Drop

<

el
o
s

0 100 200 300 400 500 600 700 800 900 1000

000 0L/min
Flow Rate

48



NO.O injiniuininininliningninln

Flange Type Check Valves

ooo 1o0”0so”
Size oooooo

Model No.

HFCO4211

oooo 0000 Standard Specifications
Symbol oooooo
IN ouT Max.Working Pressure 21MPa
gooooo
Seat Test Pressure 31.5MPa
gooooo
Shell Test Pressure 42MPa

O 00obOogJsB2291ssA0000000O
O oooboooz2sMpPall0booooooooon HFCZ-4211” OO
gooooo

0 Flange types should be per JIS B 2291 SSA.
0 Max. working pressure of 25 MPa O O O Model number is* HFCZ-4211" .

0000000 000.AMPa
Cracking pressuregl0.1MPa

0 HFCO 42110 100

0o0O00o0O0O0OFange oo
ooooon Mass
’—"j Model No. 102000 Bolt
g E|F A 0000 Size |0 No. (kg)

D G B T
i = ™ - 2

A B
\ @ lox HFC-4211-10  [J1250| 28 | 178 | 9 | 54 | 36 M10x 35 8 21 | 37
’ our T HFC-4211-15 16 R | 22| 11 | 54 | 36 M10x 35 8 21 | 37
ﬂ"_“— %ﬂ/ i HFC-4211-20 PO | 38 | 277 | 12 | 58 | 40 M10x 35 8 | 21 | 48
L1 Y ] R i
IN i J s
0
Hig o ° : 00 |00 Distance BE 0ooox00 onooooono
Bore Hexagon O-Ring Size
= | oooooo oo 4 [0JIS B 24010
] o8 Model No. ul
L T A D| L | L C | H| K N P [126A(126B
L P
HFC-4211-10 16 | 90 | 132 | 6 |30 | 65 | 52 | 36x416 | 60 | G25 | G25
HFC-4211-15 16 | 90 | 132 | 6 [30 | 65 | 52 | 36x416 | 60 | G25 | G25
HFC-4211-20 20 [ 100 | 142 | 7 |325| 80 | 60 | 46x531 | 65 | G30 | G35

000i1000000000000015000000

00000000 Flange oo

pooooo 102000 Bolt Rlass

Model No.

D: = F G A B |0000 Size |0 No.| T |(kg)
N HFC-4211-25 25 45 | 345 14 68 48 M12x 45 8 27 84
HFC-4211-32 315 56 | 432 16 76 56 M12x 45 8 27 114

ooo
Lift > HFC-4211-40 375 63 | 491 | 18 92 65 M16x 60 8 35 | 172
@ 1 = HFC-4211-50 475 75 | 611 | 20 100 73 M16x 60 8 35 | 235
HFC-4211-65 60 95 | 771 | 22 128 92 M20x 75 8 44 | 396
1 HFC-4211-80 71 108 | 90 25 140 | 103 M22x 80 8 44 | 56.6
K
Srs
= |\ 00 | 00 Distance Eg 0000x00 gug'mugsgu
M~ | T -Ring Size
oooooo Bore ol Hexagon| o0 o
— — Model No. ]

D L L. C H K N 126A | 126B
L HFC-4211-25 25 135 | 189 9 38 94 90 | 41x 473 G35 G 45
L HFC-4211-32 315 | 150 | 204 10 43 | 104 95 | 50x 577 G40 G 50
HFC-4211-40 375 | 160 | 230 13 50 116 | 115 | 54x 624 G50 G 60
HFC-4211-50 475 | 175 | 245 17 57 | 132 | 130 | 67x 774 G60 G 75
HFC-4211-65 60 210 | 298 22 70 | 147 | 150 | 77x 889 G75 G 85
HFC-4211-80 71 250 | 338 23 78 191 | 165 | 95x 110 G85 G100

49



000

i Jooood

Pressure Drop Property Chart

00o00o032mm¥/sO0000000000
The following characteristic is a representative performance at viscosity 32mm?/s.

HFCO 42110115 HFC[ 4211140
1.0 1.0
0.9 0.9
807 807
og Y og Y
0906 0506
[m] ‘a' 0.5 | 5 0.5
O v 04 0 @04
B Lo03 O Lo3
MPa 0.2 MPa 0.2
0.1 0.1
0 20 40 60 80 100 120 140 160 0 100 200 300 400 500 600 700 800 900 1000
000 O L/min 0000 L/min
Flow Rate Flow Rate
HFCO 42110020 HFCO 42110050
1.0 1.0
0.9 0.9
0.8 0.8
g 0.7 1 go7
235 95
Og 06 o206
il [
0505 o5 05 ——
o204 0304
g3 0203
MPa 0.2 MPa 0.2
0.1 =] 0.1 —|
0O 20 40 60 80 100 120 140 160 180 200 0 100 200 300 400 500 600 700 800 900 1000
0000 LUmin 0000L/min
Flow Rate Flow Rate
HFC 42110125 HFC 42110165
1.0 0.5
0.9
s 83 2 0.4
og ==
0906 0203
m} ; 0.5 ] 5
=] =]
oo 8'3 og 02 —
a 0. o —
MPa 0.2 — — MPa 0.1
0.1 l
0 50 100 150 200 250 300 350 400 450 500 0 100 200 300 400 500 600 700 800 900 1000
0000LUmin 0000 Umin
Flow Rate Flow Rate
HFCO 42110 32 HFCO 42110 80
1.0 0.5
0.9
s 83 . 04—
og Y o8
0906 oS o03
0505 035
/
=y g.g S go2 —
& 0. = —
MPa 0.2 MpPa 0.1 |
0.1
0 100 200 300 400 500 600 700 800 0 100 200 300 400 500 600 700 800 900 1000
0000LUmin 0000 LUmin
Flow Rate Flow Rate

50



NO.1) juuiningngningngningngn

Flange Type Stop Valves

ooo 100%125% 150
Size oooooo

] e HF0 4213
oooo 0000 Standard Specifications

Symbol oooooo

N Max Working Presstrre 21MPa
gooood

Seat Test Pressure 31.5MPa
gooooad

Shell Test Pressure 42MPa

gbooooobooooooooboooooboooo
O oo
goboooobooooobooooboooobooOoooo

O

0 Where flange bevel of special dimension is required, please instruct
the detail separately.

0O Characteristic:
This valve has the merit that it is easy for you to operate the handle
even in the case of high pressure, as it has the function of internal
pressure balance.

0 HFDO 42130 125,00 1500 23

0os

15 0

9873
O 9904+ 03

AD00000000
9355

M3gx 4

0OO0H
Open H

P90 10
PR

G110 10

Open 365

M30x 110 611010
80

000000365

G9520

loa
od
9E
GF
9A

\:€§ —
h 2 £
90.: iz \
g PARN . LT
- 611010 1 300 0124 .
P9010 4
60
320 108 0176
536 240
0 O |0 O Distance 00000000Flange oo oooooooo | oo
oooooo Bore Ppa— E g O-Ring Size  |Mass
[o]
Model No. O 0JIS B 24010
d L L. | do E F G A B |0O0O00O Size|O No.| T D W | ho H |126A|126B|126C| (kg)
HF-4213-125-23 108 | 450 | 726 | 108 | 1117 | 1398 | 138 | 306 | 248 M30x 115 16 70 | 360 | 40 | 550 | 287 | 505 | P125 | G165 | G120 | 450
HF-4213-150-23 130 | 580 | 876 | 1288 | 1333 | 1652 | 148 | 330 | 270 M30x 125 16 80 | 380 | 50 | 550 | 350 | 633 | P145 | G190 | G140 | 600

51



Nl O OoOOooooooooooooooOn
Stainless Steel Stop Valves

goo 8*0so”
Size 000000 | HFO42110000230AS1

Model No. | HF14211SS0000230311

noooo
Symbol o
0000 Standard Specifications

-—| >< |—- gooood
Max.Working Pressure 2IMPa

O 000D000JIsB2291ssA00000D0OMO00O0O sus3040

O o0ooboooooboooooooo

0 0Jo0ob0o0obobo0obo0oooO0ooooooooooboobo
goo0O0oboo0oooomoooooooo

0 Flange types should be per JIS B 2291 SSA. SUS3040

0 Please confirm the details of the specifications.

0 Available fluid:Mineral hydraulic oil
When using the above valves with hydraulic fluid other than
general mineral oil series and water, please feel free to contact us
for further information.

0 HFDO 42110 80 1500 230 AS1
0 HFDO 4211SS0 800 1500 230 311

0000 0HOpenH
0000 O H: Shut Hy

i
]

ooooooo =l A —

Frange Type

_ﬁ
|
||/—_\

0 HFO 42110 200 230 AS1 0 HFO 42110 250 800 230 AS1
0 HFO 4211SS0O 200 230 311 0 HFO 4211SS0 250 800 2300 311
anasern |
0 il
S (BIEE
=2 I : &
0 O Distance 00000000 Flange 000 Bonnet oo
oooooo oooox0o Mass

00000000 Hexagon Socket Head Bolt Hexagon

L [ D E F G A B |0000 Size |0 No.| T N M P | W | H | H | ho K Cc | (kg)

HF-4211- 8-23-AS1 | 80 | 122 | 9 2 | 143 | 8 54 | 36 M10x 35 8 21 35% 404 M32x15 | 60 80 | 128 | 120 | 66 | D 30 | 43
0

u}

Model No.

HF-4211-10-23-AS1 80 | 122 | 125 28 | 178 9 54 36 M10x 35 21 35x 404 M 32x 15 60 80 | 128 | 120 66 30 43
HF-4211-15-23-AS1 90 | 132 | 16 R | 22| 1 54 36 M10x 35 21 41x 473 M 38x 15 60 120 | 154 | 146 76 30 48

27 41x 473 M 60x 2 120 | 191 | 182 75 90 38 106

160 | 214 | 204 85 95 43 132

HF-4211-25-23-AS1 | 135 | 189 | 25 45 | 345 14 68 48 M12x 45

HF-4211-32-23-AS1 | 150 | 204 | 315 56 | 432 | 16 76 56 M12x 45 27 50x 57.7 M 64x 2
HF-4211-40-23-AS1 | 160 | 230 | 375 63 | 491 | 18 92 65 M16x 60
HF-4211-50-23-AS1 | 175 | 245 | 475 75 | 611 | 20 100 73 M16x 60
HF-4211-65-23-AS1 | 210 | 298 | 60 9% | 711 | 22 128 92 M20x 75
HF-4211-80-23-AS1 | 250 | 338 | 71 108 | 90 25 140 | 103 M22x 80

OHFO4211SsS0000230311000000000000000000000000

35 54x 62.4 M 76x 2 160 | 229 | 216 9 | 115 50 210

O
O
O
35 67x 774 M 90x 2 O 200 | 277 | 260 | 110 | 130 57 285
O
O

44 71x 82 M100x 2 300 | 324 | 302 | 120 | 150 70 | 480

300 | 370 | 343 | 140 | 165 78 | 646

© ||| ®|®|w|wo|wm

44 77x 889 M115x 2

52



- e coooooooo00O0O0O0OO0O00O000

Stainless Steel Stop Valves

goo 8*0s0*
Size

goooon
Model No.

HGU42110000230AS1

noooo
Symbol o
0000 Standard Specifications

-—| >< |—- gooood
Max.Working Pressure 2IMPa

O 000000o0oooo00oooooooooo

oooooooooooooboooo

O 0oooboooobo0oO0oooooo0oooooooooooooo
ooooooooooomobooooOooo

O

0 Mounting bolts&O-ring included.

0 Either port of the stop valve can be used as inlet or outlet.

0 Auvailable fluid:Mineral hydraulic oil
When using the above valves with hydraulic fluid other than
general mineral oil series and water, please feel free to contact us
for further information.
0 HGO 42110 800 3400 AS10 0 O MassO1.6kg

i
oo ooooooomoon uo
Gasket Type

N
AV
D | lg
PN
bl
¢é
H o]
r—

00 HG 421100 1000 2300 AS10 0O O Massd2.5kg

70 It - 120
= ) | A J E_ﬁ
wio g
|
H //t LM
g { o
E;\‘ NZa
2 om
1]

i)

@

(e
&
0

0 HGO 42110 320 230 AS10 0 O Mass12.9kg

4 14 160
(o= ) ——

7810
yor17

Mig \20

28RE 1259
smEE 1327

BIET
M
5 (2 (2

2 72

A [ ]
© | ©
A
QO 1
Dk [ Bre I
7‘%(“ \ 4-s21.50 110 ﬁ‘?ﬂ \ 4-o26ay

53



[l o1 EEEEEEEEEEEEEEEEEE

Screwed Type Stainless Steel Stop Valves

ooo 8*02s5”t
Size oooooo

Model No.

oooo
Symbol
ymio 0000 Standard Specifications

—-| > |— gooood
Max.Working Pressure 2IMPa

0ooooooooodJis B 0203,Rec0dnnd
gooooooooooooooooooboboooooooooooOooOoooobooDOOo@oOooOooooon

O 0O

O

Taper thread coupling typell Rcl should be per JIS B 0203.

Available fluid:Mineral hydraulic oil

When using the above valves with hydraulic fluid other than general mineral oil series and water, please feel
free to contact us for further information.

O

Oog

g ooy

Pressure Drop Property Chart

0000032mm*/s00000000000
The following characteristic is a representative performance at viscosity 32mm?/s.

HTO 12110 87100 230 AS1

OHTO 12110 0 0 0O 230 AS1

1.0
209 ! /
o508 -
Og 07 .
O 5 0.6 1
\ w Oy 05
08 o4 ‘
& 03—
AL ,@, MPa 0.2
( ) i 01 | : .
— 0 10 20 30 40 50 60 70 80 90 100
i 0000 L/min
I ] Flow Rate
M
HE HTO 12110 150 230 AS1
b :
EE =
HE . (o - T 7
N M: o = T | T T 7 1
. 2 0508 ‘1 : | - . S
& 0% o7 | | P
05 0.6 -
/ 0205 .
o8 o4 ,
P - a 03 i ‘
! MPa 02 ‘
0.1 3 T T ! 7
N 020 40 60 80 100 120 140 160
0000 LUmin
. Flow Rate

HTO 12110 200 2300 AS1

oo|oo 000 Bonnet oo o o
; 2 0.
oooooo Bore [Distance| 0000x00 Mass o5 o8
Model No. Hexagon oeod
Z|L|D M1 M ho | W | H | H1 | C kgQ 0205
0 2 0.4
HT-1211- 823-AS1 | %« | 80 | 30 | 35x404 | M32x15 | 66 | 80 | 128 | 120 | 25 | 13 a 8.3
MPa 0.2
HT-1211-1023-AS1 | ¥ | 80 | 30 | 35x404 | M32x15 | 66 | 80 | 128 | 120 | 25 | 13 0.1 T
0 50 100 150 200 250 300
HT-1211-1523-AS1 | %12 | 90 | 38 | 41x473 | M38x15 | 76 | 120 | 154 | 146 | 31 | 20 )
0000 L/min
HT-1211-20-23-AS1 | T4 | 110 | 46 | 46x531 | M4Ox15 | 88 | 120 | 172 | 162 | 38 | 33 Flow Rate
HT-1211-2523-AS1 | 1 | 125 | 53 | 50x577 | M50x 15 | 93 | 160 | 185 | 174 | 45 | 52
HTO 12110 2500 230 AS1

1.0

Q. 0.0

o £ o8
O ¢ 0.7
O 5 0.6
O3 05
0o 04
a 0.3
MPa 0.2
0.1

0 50 100 150 200 250 300 350 400
0000 LUmin
Flow Rate

54



OO0O0O0O000O0OO OO 0Configuration of model numben ex.

00000000000 0dIn case of stop valves

W-HFD-4211-K-20-23
P

Design number

IFTEMM
Diameter(/m)
FRBEMCLBXD TS - EETR
Type of place No code  Standard
K reeeenmennes ENEVTE
For outdoor
DT FEDT 2 — Ui

With dust seal

ROBELIDRD— 4211 FRB A~ VT INILT
Type of valve construction Forged carbon steel stop valve

FEMBEC LB TRSE L RETK
Main material type | Nocode Standard
A T4 HBEHRBE(EER)
Ductile cast iron(High pressure type)
Deeeeeeenees TDIA ) HkR

Ductile cast iron
F25Y9F
Flange type
T RULAHE
Screwed type
G- H2Tv N
Gasket type

BRFBER I DR
Coupling type

- ERKBIELBRD—H - BER

Type of use For hydraulic use

ERRAICLDRD TS L —ARIBRIFENH

Type of fluid used No code Normal mineral oil type hydraulic oils
Froeerssens U VBT 27 LRI
Synthetic hydraulic oils
Weeemees ICEMEESDH

Water based hydraulic oils

TROHBLEDEFIL TXAENYOTEZEEHAL CHUEIDTISRTEL),

The catalogue for the following product is available. Please refer to it if necessary. Valves of special specification

o XYTFTFHYANILT e 20V ML 20Y MILFIVDINILT o JLIAIINIT oBEU—TF
Maintenance valves Throttle-throttle stop valves with check Prefill valves

JMV L = HT—728>)—2X HIPF(D)> ') =X HRVZ U =2
JMV Series HT —728 Series HIPF(D) Series HRV Series
JMV—=ABY 1 == FVP—720v 1 —2 SEy AT WV, T S a5—
JMV —AB Series FVP—720 Séries o BRURIE v T/ VLT *06E 155
RMVY Y — HT—930% U — X Solenoid-operated stop valves
RMV Series HT—930 Series ngg%gﬂ;g EM%;;;
TR HG—720v ) —2X

";3'—‘ “JI//I\)I/7 HG—720 Series oA DERR
aBVV:j \)/6732\ o USAYFITVIINILT Flow divider-frow divider/combiner
BV Series In-line check valves EB:JS U=
HBV-TY U -2 S eries
HBV—T Series Hrezdd FDCYJ—2
HBV—GFY ! —2 FDC Series

HBV —GF Series

HIC—FJY U —2X
HIC —FJ Series

HB50Y U ==X

R P
HB50 Series hTicz=% 4~

HTICZ—Series

BRIERF SBERIRAOTHHEFERVIIOTHEEE TS,

Various valves of special specification are available at option. Please feel free to contact us for any inquiry.

gooon

OOmMmoooooooooooo Oooo0oooooooooono Oo0ooooooooooooo
Stop Valves With Limit Switch § Cylinder Operated Stop Valves[§ Forged Carbon Steel Flange Type Stop Valves

* CNSBERRICEAT 2ERISRIEHFER TS,

* Please request us separately the information related to these hydraulic products if you need it.

55





